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Question Number : 1 Question Id : 9277598105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the letter-cluster series given below:

EHSP, ILXU, MREZ, QTHE, UXMJ
Options :

1. ® ILXU

2. ¥ MREZ

3. % QTHE

4. % UXMJ



Question Number : 1 Question Id : 9277598105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad S1aR-THg Y&l H TTeld U JTd Hifeie:

EHSP, ILXU, MREZ, QTHE, UXMJ
Options :

1. % ILXU

2. ¥ MREZ

3. ¥ QTHE

4. % UXM]J

Question Number : 2 Question Id : 9277598106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter-cluster series given below:

SYG18, AGO27,I0W36, ?, YEM54
Options :

1. ¥ QWF45

2. % PWE45

3. % PWF45

4. ¥ QWE45

Question Number : 2 Question Id : 9277598106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad s1eR-THg SRael ¥ I Ug JTd SIfoid:

SYG18, AGO27,I0W36, ?, YEM54
Options :

1. % QWF45

2. % PWE45




3. ® PWF45
4. ¥ QWE45

Question Number : 3 Question Id : 9277598107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the letter triad from the given options which follows the same relation as shown below.

(TY, YF, DM)
Options :

1. % OU, TP, YI
2. % QW, VT, UY
3. % UE, YS, 0Q
4. ¥ 7ZE, EL, JS

Question Number : 3 Question Id : 9277598107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U fasmed 7 ¥ I faded o7 Tg &% Sl U & UM et T IR0 3l g |

(TY, YF, DM)
Options :

1. % OU, TP, YI
2. % QW, VT, UY
3. % UE, YS, 0Q
4.+ ZE, EL, JS

Question Number : 4 Question Id : 9277598108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related word pair from the given alternatives.

Toyota : Car : : ?



Options :

1. # Hero : earphone

2. # Xiaomi : Motorbike

3. % Bajaj : Mobile phones

4. ¥ Samsung : Mobile Phones

Question Number : 4 Question Id : 9277598108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau TTC fdemedl O 9§ Hafdd Wsq I &1 98- B |
ST BR : ;2

Options :

1. ® @ﬁw:f

2. % I : AlRERH
3. % OISl : Hiasd A

4.« JUT - A9 B

Question Number : 5 Question Id : 9277598109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ALZEBRA is written as ZMADCSZ in a certain code, then how is OFFICER written in that code?
Options :

1. ¥ NGHHDDS

2. % NGGHCDS

3. # NGGJDDS

4. ¥ NGGHDDS

Question Number : 5 Question Id : 9277598109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gfe U fAf3d %e H ALZEBRA &1 ZMADCSZ foRal ST 8, 96 OFFICER &1 e 3T foraT ST



Options :

1. # NGHHDDS
2. % NGGHCDS
3. ¥ NGGJDDS
4. ¥ NGGHDDS

Question Number : 6 Question Id : 9277598110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is younger than B, B is elder than C, C is younger than A, and D is elder than B. Who is the youngest among A, B, C, and D?
Options :

1. % A

2. % B

3. ¢°C

4. % D

Question Number : 6 Question Id : 9277598110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A,BU BTG, B,CIATIIG, C, AV BTG, 3R D, BTSB! A, B, C 3R D & I I BlcT B 82
Options :

1. % A

2. % B

3. ¢C

4. % D

Question Number : 7 Question Id : 9277598111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a row of girls, Shilpa is 8th from the left and Reena is 17th from the right. If they interchange their positions, Shilpa becomes 14th from the
left. How many girls are there in the row ?

Options :



1. % 25
2. % 27
3. %29
4.4 30

Question Number : 7 Question Id : 9277598111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ASfhdl & T Ufad &, Ren s s M R g AU I ¥ 17 A 81 3S d 307 F Siaell- Sael dd 7, 99 a1 a8 § 14 § R—IF R
g1 ifda H Tsfordl o T &1 $a T 82

Options :
1. % 25
2. %27
3. %29
4. % 30

Question Number : 8 Question Id : 9277598112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:
Some dolls are are toys.
Some toys are children.

Conclusions:
(I) Some toys are doll.
(IT) All dolls are toys.

Options :

1. ¥ If only I follow

2. % If only II follows

3. # If both I and II follow

4. % If neither I nor II follows



Question Number : 8 Question Id : 9277598112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad s ) wu fRu e 8 S o1g < sy 1 9 11 AT 77T B 3i1uep! 37 =it ol I AT §, Wl &1 d ga3Td aat 3 et uefid
gid 81| fau e freensf o @ 1 91 e 3T U Sy &1 difthes U § 38R0 SRl g |

o Rm R A
RIS I
$3 Rga a1 5
:@Fﬁe{{ﬂ%m%
0 PS S .
() oft Tfsar Raeim ]
Options :
1. ¢ $ad (16 | TERU BT ®
2. % Had BN 11 IR0 Xl §
3. % G FIShY [ T 11 SFJAR0T 6’ &
4. % ) freend 171 8 FShY 11 SFaRu BT §

Question Number : 9 Question Id : 9277598113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:

All suit are shirts.
Some shirts are jeans.
Some jeans are shoes.

Conclusions:
(I) Some shoes are suit.
(II) Some shirt are suits.

Options :



1. # If only I follow

2. % If only II follows

3. % If both I and II follow

4. # If neither I nor II follows

Question Number : 9 Question Id : 9277598113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad uy & i oy feu U g e a1e 1 s 1 9 11 fAT 77U § 3ues! 39 Syl o I AT §, Wl 81 d Jagd au 9 fire uddta
gid gt fau e feersf & § &1 a1 feepdf 3T 78 2= &1 difches 0 I ORI BT 7 |

HY:
Tt ge W g |
PO TE ST g
EERIRS
fsep:

) $S II YL E|

(1) P IEYLE|
Options :

1. % $Had [T5HY [ 3FIERU Hdl §

2. ¢ Had [HY 11 SR HT &

3. % G (IShY 1 T 11 SFJAR0T 6’ &

4. % ) freend 17 € sy 11 SR BT §

Question Number : 10 Question Id : 9277598114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three statements are followed by three conclusions numbered I, II and III. You have to consider these statements to be true, even if they seem to
be at variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:
Some numbers are keys.
Some keys are plants.



Some plants are trees.

Conclusions:

(I) Some trees are numbers.
(IT) No trees are numbers.
(IIT) All plants are keys.

Options :

1. % If only I follow

2. % If only II follows

3. % If only III follows

4. ¥ If either I or II follows

Question Number : 10 Question Id : 9277598114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad gy & &5 Sy e 7w 8 e a1 9 e 1,11 g 111 faT 77T § 31U 37 SUHl bl I AT 8, WA 8 d Jdwrd aet I fie
gdid gd 811 fau e feerst & § &1 91 e 3T 78 2 &1 difthes &0 I ORI SR ] |

hY:

$O T TS B
PO IIfeai N F
PO U TS Tl

fsepu:

OEEREREI

(I1) P IS H&T 78] 5

(rn) gt e =nfeai |

Options :

1. % $Had [T5HY [ 3ITRV Hal &

2. % Had (BN 11 SR Hl §

3. % $Had fIswY 111 3FIER0T Fal &

4.« 1A e 1 a7 FSh Y 11 SRR el §

Question Number : 11 Question Id : 9277598115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the series.

128, 64, 64, ?, 192, 480
Options :

1. % 156

2.9 96

3. % 180

4. % 154

Question Number : 11 Question Id : 9277598115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a1 § L UG 37 DY |

128, 64, 64, ?, 192, 480
Options :

1. % 156

2. 9% 96

3. % 180

4. % 154

Question Number : 12 Question Id : 9277598116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If G > L= A > N < C <E, which of the following is definitely false?
Options :

1.¥'N>G

2. ¥ N<E

3. G>A

4. % G=A



Question Number : 12 Question Id : 9277598116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢ G>L=A>N<C<E, g, @ Fg ¥4 oH-a1 fd ¥U ¥ 3 57
Options :

1. ¥ N>G

2. % N<E

3. G>A

4. % G=A

Question Number : 13 Question Id : 9277598117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two signs should be interchanged to make the following equation correct?

5+16-4x14+2=59
Options :

1. ®* xand +

2. % +and x

3. % +and -

4. ¥ +and -

Question Number : 13 Question Id : 9277598117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferfead I o &) ggt 991 & forg {1 gl gl &1 TR ded &1 anfee?

5+416-4x14+2=59
Options :

l.WxGﬁT+
2. % = 3R x
3% 4+ 3R-




4.9 = 3R -

Question Number : 14 Question Id : 9277598118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents bike, circle represents travelers, pentagon represents metro, rectangle represents bus and square
represents cabs.

What does letter ‘D and N’ represents?

NG A

Options :

1. # Travelers who travel via cab, bus and metro but not by bikes
2. % Travelers who travel via cab, bus and bikes but not by metro.
3. ¥ Travelers who travel via metro, bus and bikes but not by cab.

4. % Travelers who travel via metro, cab and bikes but not by bus.

Question Number : 14 Question Id : 9277598118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed sma & Ay wgfed o1 ufaffta wxar g, 30 ol o1 ufafAfia Hd1 |, Gadivn 3Tl &1 ufafAfia SR 8, Smad 89 &
gfafAfia o § iR 97f & &1 ufafafia sar g

3&R D 3R N’ frgeT ufaffda g2




Options :

1. # it Ol e, §9 3R Hel I IH1 Hd & Al 915® 4 el
2. % g Off e, 9 3R d13% I THT Hd & A Hel I el |
3. ¢ T S S, §9 3R a3 § AT HRd & b e § gl |
4. % g S A, e 3R TSH Y T HR ¢ Al a9 F 81|

Question Number : 15 Question Id : 9277598119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents workers, circle represents industrial sector, pentagon represents part time job, rectangle represents
government sector and square represents business projects.

What does letter ‘B’ represents?



O

Options :

1. #® Workers who work in industrial sector and business project but not in government sector

2. % Workers who work in industrial sector and government sector but not in business project

3. #® Workers who do part time job in industrial sector and government sector but not in business project

4. ¥ Workers who do part time job in industrial sector and business project but not in government sector

Question Number : 15 Question Id : 9277598119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRaa sma 8, Biyst sl &1 ufaffa R g, 30 Siefie & &1 ufafAfia Rl g, TaeIu SiReIad A & ufdafHidd
BT 8, 3 WBR} a1 o1 ufafAiftica #3d1 g 3R 97 sargaiie uRarsreh o1 ufafAfid sar g |

&R ‘B’ forgesT ufaffda g2




Options :

1. % o4ffes St SeNfies & 3R e URASHT § 11 Hd & Afdh BRI URaSHT H 81|

2. % 4ffrep i SN & 3R TRHRI URTISHT H BT HRd & Al saradTiies gRasH | Tal|

3. % it S 3Nl &7 3R TRHRT URAISHT H 3/ il BHRd & dfb ATauIRID URANHT | T8l
4.« 4t o 3NN & 3R ATaaRic UREeHT § 3irbifcie Tl Bd & Afe TRBRY URASHT H et |

Question Number : 16 Question Id : 9277598120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will replace the question mark (?) in the following figure series.

sdands |

Options :

1y




2.¥

Question Number : 16 Question Id : 9277598120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I AP BT 94 D Sl FAafaRaa siapfa g 4 uy g (2) o ufciifig s |

sdands |

Options :



T

i
i

I—:I

Question Number : 17 Question Id : 9277598121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one in which the Question Figure is hidden/embedded.



o

Options :

&
i
K<




Question Number : 17 Question Id : 9277598121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu 7TQ faeent & 9, I 1P o1 99 B 7 uy 3nepfa srafifea / fodt g2

Options :




%
o

Question Number : 18 Question Id : 9277598122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one which is the mirror image of given Question Figure.

=

Options :

,.-'f ;.-":__,r"l:__:’r /"I:, 7 =

lIII.-'
¢

fo/f'r {" II:/

i’

=



J?n

1. %
*C
—_—
2. %
+ S
g
3. ¢
*C
N
4. %

Question Number : 18 Question Id : 9277598122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U faewedl 7§ ¥, I 3M1epfa &1 7= B3 S fou U uy e o1 gdur ufafes 31



= LI =

S

Options :

e

3. ¢



Question Number : 19 Question Id : 9277598123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the number of pentagon in the given figure.

A7
Options :
1. %9
2.9 8
3.% 7
4. % 10

Question Number : 19 Question Id : 9277598123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS 3Tl B YS! Pl e 1d BT



7
Options :
1. %9
2.9 8
3.% 7
4. % 10

Question Number : 20 Question Id : 9277598124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one that will complete the question figure.

Options :



Question Number : 20 Question Id : 9277598124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U fa el O 9 39 fabed &1 AT S Uy 3HThid & R dR|



Options :




General Awareness

Group Number : 2

Group Id : 927759302
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness

Section Id : 927759328
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759389
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9277598125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The fort of Vellore, situated in the present-day state of Tamil Nadu, was built under which of the following?
Options :



1. ¥ Vijayanagar Empire
2. # Chalukya Empire
3. % Kakatiya Empire

4. # Lodi Dynasty

Question Number : 21 Question Id : 9277598125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A dfETg I8 H Ry dediR &1 fban Rafead o 9 fbads srefid s mar ur
Options :

1. ¢ fOoIgTTR 9Ty

Question Number : 22 Question Id : 9277598126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Chhau dance form is a regional dance form of which of the following states?
Options :

1. # Mabharashtra

2. % Telangana

3. % QOdisha

4. % Jammu and Kashmir

Question Number : 22 Question Id : 9277598126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 T 0 FufifEaa § 3§ fog T &1 au Ta 82

Options :
1. % HERIY



2. % Qe
3. ¢ 3fifgxm
4. % S0 3R HRAR

Question Number : 23 Question Id : 9277598127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many minimum days of works is provided under Mahatma Gandhi National Rural Employment Guarantee Act 2005?
Options :

1. % 120 Days

2. % 100 Days

3. #® 90 Days

4. % 60 Days

Question Number : 23 Question Id : 9277598127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HETHT el AT AT AR TRET SATATH 2005 (FARI 2005) & Tod A fova fat o1 Bl Har fbar S g2
Options :

1. % 120f¢a

2. ¢ 100 &

3. % 90 faq

4. % 60 faa

Question Number : 24 Question Id : 9277598128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average income can be derived by dividing the total income of the country by -
Options :

1. % Total population

2. % Total earning population



3. % Total population above 18 years of age
4. # Total population above the age of 24 years

Question Number : 24 Question Id : 9277598128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

29 P H 3T B {Pgd gRI FAHIRIG PP 3G 34T U b1 o ebell B2
Options :

1. ¢ Hd ST

2. % Pd HHM Il SIS

3. % 13 T9 9 HfUP MY BT H ST

4. % 249N 3D A DI H oHEBAT

Question Number : 25 Question Id : 9277598129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is regarded as the founding father of modern Economics?
Options :

1. ® John Maynard Keynes

2. ® Milton Friedman

3. ¥ Adam Smith

4. ® Karl Marx

Question Number : 25 Question Id : 9277598129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafied & 9 &1 Sy rI=IRd & S A1 oid 82
Options :

1. % S TS B

2. % fiee st

3. ¢ T Y




4. % P ATGH

Question Number : 26 Question Id : 9277598130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an example of food rich in ‘Ascorbic Acid’?
Options :

1. % Amla

2. ¥ Vinegar

3. % Orange

4. % Lemon

Question Number : 26 Question Id : 9277598130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAffed & 9 ®F T ias TS ¥ HRYR HiSH &1 3aT6R0T 18! 82
Options :

1. % 3figan

2. ¢ R

3. % a1

4. % Hig

Question Number : 27 Question Id : 9277598131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When an object is placed very close to a concave mirror, what is the nature of the image formed?
Options :

1. ¥ Virtual, erect and magnified

2. # Real, erect and smaller in size

3. * Virtual, Inverted and smaller in size

4. # Virtual, erect and diminished in size



Question Number : 27 Question Id : 9277598131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o forail G B! S{add qUUl & dgd U1 QT STl 5, A1 Ui o TR BT ST 82
Options :

1. ¢ STHTT, Tftem 3R smafefa

2. % Y, T 3R MHR & Bler

3. % SIYRR, IeeT 3R MHR & BleT

4. % MY, Ifem 3R HHR T Ble

Question Number : 28 Question Id : 9277598132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Breeding of fish in specially constructed tanks and ponds is called-
Options :

1. # Sericites

2. % Sericulture

3. # Piscicides

4. ¥ Pisciculture

Question Number : 28 Question Id : 9277598132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a2y =0 I fAftfa ¢fHar (Tanks) 3R aremsl (Ponds) & ASfer & U9 &1 H8d 3-
Options :

1. % gy

2. % WiheeR

3. % [UpIars sy

4. ¢ Ui eR




Question Number : 29 Question Id : 9277598133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of 2020 which of the following is the largest producer of rice in the world?
Options :

1. ¥ China

2. % Japan

3. % India

4. # Bangladesh

Question Number : 29 Question Id : 9277598133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2020 TH IUAH THBRT & STIR Fafafad § I & fay & 97ad &1 Jad T81 SAEH 82
Options :

1. ¢ 9

2. % SOH

3. % HYRd

4. % FATCH

Question Number : 30 Question Id : 9277598134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Permanent settlement was introduced in which year?
Options :

1. % 1773

2. % 1783

3.9 1793

4. % 1788

Question Number : 30 Question Id : 9277598134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
R delawd forg ay R fosar mam U
Options :
1. = 1773
2. % 1783
3.9¥1793
4. % 1788

Question Number : 31 Question Id : 9277598135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hindustan Socialist Republican Association was founded in which year?
Options :

1. ® 1907

2.9 1928

3. % 1942

4. % 1946

Question Number : 31 Question Id : 9277598135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEgeam Trrfere Rufsde- THIRIERE &1 R0 ford au g8 e
Options :

1. % 1907

2.9 1928

3. % 1942

4. % 1946

Question Number : 32 Question Id : 9277598136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following commodity’s production boom symbolized the new era of Industrialization in 18th century?



Options :
1. ¥ Cotton
2. # Jute
3. # Silk
4. ¥ Nylon

Question Number : 32 Question Id : 9277598136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed & 3§ frd avg & Idre- § 31d 1891 Jdred! H SR fRur & U G &1 Uclidh &1
Options :

1. ¢ oU™g

2. % 3¢

3. % 7MW

4. % G

Question Number : 33 Question Id : 9277598137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The book ‘Wings on fire’ is written by which of the following personalities?
Options :

1. % Jawaharlal Nehru

2. % A.PJ. Abdul Kalam

3. # R.K. Narayan

4. % Amitav Ghosh

Question Number : 33 Question Id : 9277598137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fv 3ff7 BRR qXde Fufeied & @ fora afdaa gri ferdt 18 82

Options :



1. % Jaedd Jg%

2. ¢ UL 3fsgd Al
3. % 3R.b. AR

4. % a9y

Question Number : 34 Question Id : 9277598138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the headquarters of South Asian Association for Regional Cooperation situated?
Options :

1. # New Delhi

2. ¥ Kathmandu

3. % Islamabad

4. % Dhaka

Question Number : 34 Question Id : 9277598138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feror uRmTE &5t TR 4Y o1 qoITerd del RUd 72
Options :

1. % 73 foertt

2. ¢ BIGHIG

3. % QIMHHIG

4, % Gldbl

Question Number : 35 Question Id : 9277598139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jeft Bezos’s rocket company, Blue Origin’s first flight is named after which of the following astronauts?
Options :

1. % Neil Armstrong



2. ¥ Alan Shephard
3. #® Buzz Aldrin
4. * John Glenn

Question Number : 35 Question Id : 9277598139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S SO B1 JMdve U, & RIS BT ugell S8 &1 A Fafoiad o 9 food siafe amt & A )R @ T/ g?
Options :

1. # <ia smiReiT

2. ¢ T A%S

3. % 9 UfegA

4, % ST

Question Number : 36 Question Id : 9277598140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which football team won the UEFA European Football Championship 2020?
Options :

1. ¥ Ttaly

2. % Germany

3. % England

4. % France

Question Number : 36 Question Id : 9277598140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TEUBT RIUTT Besid g 2020 59 Beaid ¢ = sfid

Options :
1. ¢ gedl
2. % SHA



3. % 3ds

4. % iy

Question Number : 37 Question Id : 9277598141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Right to Information (RTI) to the Citizens Act was passed in which of the following year?
Options :

1. % 2002

2. % 2003

3. % 2004

4. 2005

Question Number : 37 Question Id : 9277598141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 forg av amie siffam &) gam &1 SR (RT1) TiRa fasar mar am
Options :

1. % 2002

2. % 2003

3. % 2004

4. ¥ 2005

Question Number : 38 Question Id : 9277598142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Indian National Congress was founded in which of the following years?
Options :

1. % 1886

2. % 1888

3. % 1887

4. ¥ 1885



Question Number : 38 Question Id : 9277598142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR ST B b1 R Fafeiad # 3 foog o g3 o
Options :

1. % 1886

2. % 1888

3. % 1887

4. ¥ 1885

Question Number : 39 Question Id : 9277598143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anti-defection law was introduced in which of the following years?
Options :

1. ¥ 1985

2. % 1991

3. % 1994

4. % 1998

Question Number : 39 Question Id : 9277598143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gased faRIdt B fafoied o ¥ fooe o o o=y favar Ut
Options :

1. % 1985

2. % 1991

3. % 1994

4. % 1998



Question Number : 40 Question Id : 9277598144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the only Indian woman to win two medals in her Olympics career?
Options :

1. ¥ PV Sindhu

2. # Mirabai Chanu

3. % Sakshi Malik

4. % Mary Kom

Question Number : 40 Question Id : 9277598144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofad 7 9 19 3m siefie HiRer & &) ugd shan aTdt TeHams YRR Afger 82
Options :

1. ¢ Uidi Ry

2. % URIERE 97

3. % qraft Afcres

4. % TP

Arithmetic Ability

Group Number : 3

Group Id : 927759303
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



Arithmetic Ability

Section Id : 927759329
Section Number : 1

Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759390
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9277598145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If (a—3)+ (b—4) +(c—9) =0 then what is the value of\/a+ b+ c?
Options :

1. %5

2.9 4

3.%3

4. % 2

Question Number : 41 Question Id : 9277598145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (@32 +0—42+(c—9P=0gdr Va+ b+ cHAHAFATE?

Options :
1. %5



2.¥4
3.%3
4. %2

Question Number : 42 Question Id : 9277598146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

(2 +22=11%2+ 152
Options :

1. #® 153

2. % 93

3.9 18

4. % 108

Question Number : 42 Question Id : 9277598146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgferfad gy o uearee g (2) & R IR 1 HE ST

(2 +22=11%2+ 152
Options :

1. # 153

2. % 03

3.9 18

4. % 108

Question Number : 43 Question Id : 9277598147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Convert 3.232323... into fraction.



Options :
32
1.®% 9

220
2.4 %9

323

298

4% 9

Question Number : 43 Question Id : 9277598147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3.232323... B! i § uRafdd &3
Options :

3z
| % 9

320
2. 99




Question Number : 44 Question Id : 9277598148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should come in place of the question mark (?) in the following question?

1:: % 221;. " % —7
Options :
1. ¥ 160
2. % 150
3. % 140

4. *= 320

Question Number : 44 Question Id : 9277598148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgferfad oy o uy foeg (2) & R R 1 3T A1l

176 _, 215 _ 108
X K=}

43 27 22

Options :
1. ¥ 160
2. % 150
3. % 140
4. % 320

Question Number : 45 Question Id : 9277598149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average cost price of three products P, Q, R is Rs.360. The average cost price of four products P, Q, R, S is Rs.320. The average cost price of
four products Q, R, S, T is Rs.300. The cost price of T is Rs.50 more than the cost price of S. Find the cost price of product P.

Options :



1. ® Rs.310
2. % Rs.280
3. # Rs.270
4. ¥ Rs.330

Question Number : 45 Question Id : 9277598149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fF IS P, Q, R T 31¥d T H 360 TUY § | TR IATGI P, Q, R, S BT 3M¥d 3 T 320 T § | IR IATGI Q, R, S, T &1 34d 564
Ted 300 PUA § | T T AN Hed, S & AN Hed ¥ 50 ¥ 31 § | STG P HI hd Hed 1A HIoT |
Options :

1. % 310390
2. % 280%0Y
3. % 270 %09
4. v 330 309

Question Number : 46 Question Id : 9277598150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between the lengths of the two candles is 4 cm, and the sum of their lengths is 32 cm. The length of the shorter candle is what
percent less than the length of the longer candle?

Options :

1. #* 33.33 percent
2. % 25 percent

3. % 22.22 percent
4. % 20 percent

Question Number : 46 Question Id : 9277598150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁWﬁW%aﬂam&mmﬁé, 3R IP TETE BT AT 32 T B BT Aiaht B TaTE, et AIHah B dars o fave
OfcI=Id & 82



Options :

1. % 3333 gfdrd
2. % 25 gfard

3. ¢ 2222 gfa=rd
4. % 20 gfaerd

Question Number : 47 Question Id : 9277598151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A father increases pocket money of his son by 20 percent. If son gets Rs. 300 after increase, find his pocket money before increase.
Options :

1. ¥ Rs. 250

2. # Rs. 240

3. ¥ Rs. 200

4. % Rs. 230

Question Number : 47 Question Id : 9277598151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fOrdT 39 O & S e B 20 Uia=id @ afg HRa1 | e gfg & a8 T &1 300 =T e § Y 9f & Ugdl ST oid W 3i1d i |
Options :

1. ¥ 250 =UU

2. % 240 ¥UU

3. % 200 ¥UU

4, % 230%¥4U

Question Number : 48 Question Id : 9277598152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper organizes a sale on Free Friday, offering a discount of 23 percent on all items. Still, he makes a profit of 10 percent. By how much
percentage CP was lower than MP?

Options :



1. # 15 percent
2. % 20 percent
3. % 10 percent
4. ¥ 30 percent

Question Number : 48 Question Id : 9277598152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH GHMGR YHAR DI T fo5h! BT SATo Hal 5, forad Tt axgsi R 23 Ufa=rd &t ge §f it g1 i off, 39 10 Ufc=Ta &7 @y gra
21 Y Hed, 3ifbd 7w § faba ufwrd & Ut

Options :

1. % 15 gfawd
2. % 20 Ufard
3. % 10 gfa=d
4. ¥ 30 Ufa=Id

Question Number : 49 Question Id : 9277598153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ankita purchased a television and a camera for Rs.12, 000 and Rs.8, 000 respectively. She sold the television at a loss of 10 per cent and camera
at a profit of 12 per cent. What is her overall loss/profit?

Options :

1. % Rs.450
2. ¥ Rs.240
3. % Rs.640
4. % Rs.790

Question Number : 49 Question Id : 9277598153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ifddT A T TefaSH 3R Th HHRT HHTT: 12,000 TYT 3R 8,000 TYY H WeT| I Taitfao o1 10 Ufa=rd &1 81 IR 3R HHI BT 12
UfIRId & TH R 91| D! Hol SI-/aTH FT 82



Options :

1. % 450 390
2. 240 309
3. % 640 ¥0Y
4. % 790 30Y

Question Number : 50 Question Id : 9277598154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 5x : 3y =45 : 21 and 3x+ 2y = 123, then find the value of (y + x).
Options :

1. = 82

2. % 66

3. % 108

4. 48

Question Number : 50 Question Id : 9277598154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 5x : 3y =45 : 21 3R 3x + 2y = 123, Al (y + x) BT HH F1d BT/
Options :

1. % 82

2. % 66

3. % 108

4. ¥ 48

Question Number : 51 Question Id : 9277598155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Jackson walked every morning from Monday to Saturday. The ratio of distance walked on Monday to Tuesday is 2 : 1, on Tuesday to Wednesday

is 3 : 2, on Wednesday to Thursday is 3 : 4, on Thursday to Friday is 2 : 1 and Friday to Saturday is 2 : 3. Find the ratio of the products of
distances walked on Monday, Tuesday, and Wednesday to the products of distances walked on Thursday, Friday, and Saturday.



Options :

1. % 243 : 64
2. % 27:4
3. % 64:27
4. ¥ 81:16

Question Number : 51 Question Id : 9277598155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sl MHAR ¥ AR TS Yo cgad! dT| THIR SR FIAIR B Iail gl BT U BT 2 : 1§, HAaR 3R §UaR HI Fall gl &l
3T SHHTT: 3 : 2 B, FUAR MR TSAR P! deil Gl BT AT HHT: 3 : 4 §, TEAR 3R YLHAR Bl gl Gl BT AT HHST: 2 : 1§ aUT
YEHAR 3R UFAAR B Telt g2 BT ST HHRT: 2 : 3 § | GHAR, HTAAR 3R JUIR B il T3 g3l BT UHGE 9UT AR, YHAR 3R
AR I e 718 g3 & OB BT HHT: U J1d DIl |

Options :

1. % 243 : 64

2.%27:4

3. % 64:27

4.9 81:16

Question Number : 52 Question Id : 9277598156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A part of Rs. 1200 was lent at 10 percent per annum and rest at 7 percent per annum. The total interest earned in two years was Rs 180. The sum
lent at 7 percent was:

Options :

1. ®* Rs.750
2. % Rs.1000
3. * Rs.820
4. % Rs.200

Question Number : 52 Question Id : 9277598156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

1200 ¥ &1 3 1 Ui a8 10 Ufa=rd 3R AW e &1 i a 7 Uf=id &1 e IR IUR fear T & auf § $d Sifold <o 180 30 |
7 Gid=Td IR YR T Tt R <A i

Options :

1. % 750 39U
2. ¢ 1000 TYY
3. % 820 %09
4. % 200 39Y

Question Number : 53 Question Id : 9277598157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A jouney of 96 km takes one hour less by a fast train (A) than by a slow train (B). If the average speed of B is 16 km/h less than that of A, then
the average speed (in km/h) of A is:

Options :
1. * 64
2.9 48
3. % 54
4. % 60

Question Number : 53 Question Id : 9277598157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot 7T @1 S (A), et 1T & Te aTelt ¢ (B) B g | 96 fh 1 g3t U ©c H THd W 09 dxdll ¢ | IfG B $I 3M¥Id TIfd, A Bt ol
H 16 T HA ®, O A T 3 Tifa (fpeiyae ) @:

Options :

1. % 64

2. 48

3. % 54

4. % 60

Question Number : 54 Question Id : 9277598158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A car covers four successive 8 km distance at speed of 10 kmph, 20 kmph, 30 km/hr and 60 kmph respectively. Its average speed over this
distance is:

Options :

1. ¥ 20 kmph
2. % 30 kmph
3. % 45 kmph
4. % 50 kmph

Question Number : 54 Question Id : 9277598158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HR IR HHNT 8 forrt Bt g3t 1 Haer: 10 foet ufay €2, 20 foreht ufa €, 30 foomht ufa € 3R 60 fordt ufay € &) 1fa @ o et B
9 g3l & foTe g9e! SiiTd Tifd T g2

Options :

1. ¢ 20 et ufd ger
2. % 30 fut ufd gt
3. % 45 fopdt ufa g
4. % 50 fodl ufd et

Question Number : 55 Question Id : 9277598159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ratish takes 3 hours to type 24 pages. Shamik takes 9 hours to type 45 pages. In how many hours they will type 351 pages together?
Options :

1. # 24 hours

2. % 18 hours

3. % 27 hours

4. % 30 hours

Question Number : 55 Question Id : 9277598159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A 24 U T3 B | 3 U BT IHY AdT & | WTHD 45 U T30 B H 9 U Aar g1 3 fovda el § U iy firaeps 351 U 2180 R ail?
Options :

1. % 249¢C

2. % 186

3. ¢ 274

4. % 309c

Question Number : 56 Question Id : 9277598160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There is a leak in the bottom of the tank. This leak can empty a full tank in 8 hours. When the tank is full, a tap-in is opened into the tank which
admits 10 liters per hour into the same tank and the tank is then emptied in 12 hours. What is the capacity of the tank?

Options :

1. # 280 liters
2. % 250 liters
3. % 240 liters
4. % 200 liters

Question Number : 56 Question Id : 9277598160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ¢ & ad 1 U RA1d ¢ | I8 RATd T R gU P Dl 8 G T WTel Hr Ihal g | 99 ¢ WIS 8, ¢ U T -l @idll oAl g off fob
3% BT 10 ofier Ufd g o1 1fa T HRaT 8 3R fh T 12 °¢ H @Telt g1 |1 ¢ bt idl fvat 82

Options :

1. % 280 dilex

2. % 250 TR

3. ¢ 240 Wi}

4. % 200 X




Question Number : 57 Question Id : 9277598161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Akshat makes a tabletop with a circular glass of radius 1.4 m. He makes a 35 cm wide wooden border for the glass top. Find the area of the
border.

Options :

1. % 295 m?
2. % 425 m?
3. ¥ 3.465 m?
4. % 3145 m?

Question Number : 57 Question Id : 9277598161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{efd 1.4 Tiex ST & TAHR Hid & 1Y T cqaed 911 & | I8 Saaeiy & ol 35 Y A18T Adba! ol fh-RT §1a1 g | {1 &
A J1d BIT |

Options :

1. % 29572
2. % 42512
3. ¥ 3.465 112
4. % 3145112

Question Number : 58 Question Id : 9277598162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One side of a rhombus is 61 cm and one of its diagonals is 22 cm. What is the area of the rhombus?
Options :

1. % 1132 cm?

2. ¢ 1320 cm?

3. % 1480 cm?

4. % 660 cm?



Question Number : 58 Question Id : 9277598162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP JHAGHS B U Yol 61 THT 3R ITHT T faspuf 22 it § | THAqUS 7 85 d 1 82

Options :

1. % 1132 3 9
2. ¢ 1320 1 I
3. % 1480 T I
4. % 660 7 A

Question Number : 59 Question Id : 9277598163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the table carefully to give the answer.

Train A Train B
Days Time (in hr) |Distance (in km)| Time (in hours) | Distance (in km)
Mondav - 360 - 420
Tuesday 3 - - 280
Wednesday g 400 5 -
Thursdav B 440 - -
Friday 10 750 5 600
Saturdav - 200 3] 200
Sunday 6 540 - 550

If the speed of train A on Monday is equal to half of the speed of train B on Saturday, and train A on Monday takes 4 hours more than the time
taken by train B on Saturday, then what is the speed of train A on Monday?

Options :

1. #* 25.5 km/hr

2. % 21.25 km/hr
3. #* 18.6 km/hr



4. % 24 km/hr

Question Number : 59 Question Id : 9277598163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR & o e TfTenT T S-gddh 37T B |
TEmEIA {@Imst B
Lo waEed) | @S | wmard | @@

160 - 120
- 3 - - 280
Cabl g 400 5 -
2 g “0 - -
L 10 750 3 600
? 800 ] 900
: 6 30 - 330

gfe AR &) TSt A &1 Tfd, MFER & YTAs! B & 1 & 319 & SRR §, AR ITTMS! A GHIR HI YS! B gRT YHAR &I forg
T IHT T 4 G 3 ol ], d THIR B IATTSt A B 11 a7 82

Options :

1. % 25.5 fpwl/Ea
2. ¥ 21.25 fpHi/Eer
3. % 18.6 fopdl/der



4. % 24 fHHEeT

Question Number : 60 Question Id : 9277598164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following bar graph shows the income (in lakhs rupees) and total expenses (in lakhs rupees) of a man over the years.

2014 2015 2016 2017 2018

B Income M Expense

Note : Saving percentage = (Saving/Income) x 100 percent

What is the average of savings percentage during the period?
Options :

1. ¥ 62.8 percent

2. % 593 percent

3. % 64.5 percent

4. ® 63.6 percent

Question Number : 60 Question Id : 9277598164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafifad IR U6 TE e B 3T (@R 30 H) SR $o W (A 30 ) B i g |

2014 2015 2016 2017 2018

By Bgr

qic: Sad Ufa=id = (@9d/31) x 100 U2
319y P SR ToId Ufa=Id BT 3NTd 1 82

Options :

1. ¢ 62.8 Ufard
2. % 593 gfa=rd
3. % 64.5 Yfa=d
4. % 63.6 Ufa=rd

General English
Group Number : 4



Group Id : 927759304

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English

Section Id : 927759330

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759391

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9277598165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a part of the sentence may contain an error. Identify the part that contains the error and select it as your answer. If the
sentence is free from error, select 'No error'.

Chosen carefully by the researchers, the oils may not only palliated the condition, but also cure it.
Options :
1. #* Chosen carefully by the researchers,

2. ¥ the oils may not only palliated



3. #* the condition, but also cure it.
4. # No error

Question Number : 61 Question Id : 9277598165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a part of the sentence may contain an error. Identify the part that contains the error and select it as your answer. If the
sentence is free from error, select 'No error'.

Chosen carefully by the researchers, the oils may not only palliated the condition, but also cure it.
Options :

1. % Chosen carefully by the researchers,

2. ¥ the oils may not only palliated

3. # the condition, but also cure it.

4. % No error

Question Number : 62 Question Id : 9277598166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a part of the sentence may contain an error. Identify the part that contains the error and select it as your answer. If the
sentence is free from error, select 'No error'.

They soak up all the resources, leaving little if nothing for experimentation or new approaches to unique circumstances.
Options :

1. # They soak up all the resources, leaving

2. # little if nothing for experimentation or

3. % new approaches to unique circumstances.

4. % No error

Question Number : 62 Question Id : 9277598166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, a part of the sentence may contain an error. Identify the part that contains the error and select it as your answer. If the



sentence is free from error, select 'No error'.

They soak up all the resources, leaving little if nothing for experimentation or new approaches to unique circumstances.
Options :

1. # They soak up all the resources, leaving

2. # little if nothing for experimentation or

3. # new approaches to unique circumstances.

4. % No error

Question Number : 63 Question Id : 9277598167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If there is no need to substitute the bracketed part, select
‘No improvement’.

If Louisa is coming, (she could look for) the children for a while.
Options :

1. ® she’ll look for

2. % gshe could look after

3. % she can look after

4. ® No improvement required

Question Number : 63 Question Id : 9277598167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If there is no need to substitute the bracketed part, select
‘No improvement’.

If Louisa is coming, (she could look for) the children for a while.
Options :

1. % she’ll look for

2. ® she could look after

3. % she can look after

4. ¥ No improvement required



Question Number : 64 Question Id : 9277598168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

ANCIENT
Options :
1. ¥ antique
2. * modern
3. % new

4. *# recent

Question Number : 64 Question Id : 9277598168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

ANCIENT
Options :
1. ¥ antique
2. * modern
3. * new

4. % recent

Question Number : 65 Question Id : 9277598169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

It a lot yesterday night.
Options :

1. #* has been raining



2. * did rained
3. % rained
4. * had rained

Question Number : 65 Question Id : 9277598169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

It a lot yesterday night.
Options :

1. #* has been raining

2. % did rained

3. % rained

4. % had rained

Question Number : 66 Question Id : 9277598170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Scientists have created a flock of sheep carry the gene for a lethal inherited brain disorder in humans.
Options :

1. # whom

2. #% when

3. % which

4. ® while

Question Number : 66 Question Id : 9277598170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.



Scientists have created a flock of sheep carry the gene for a lethal inherited brain disorder in humans.
Options :

1. ¥ whom

2. #% when

3. % which

4. ® while

Question Number : 67 Question Id : 9277598171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, a sentence is provided with two blanks. Choose the correct combination of words that fit into the corresponding blanks.

In a bid to investment activity, Finance Minister Nirmala Sitharaman on September 21, 2019 a sharp cut in corporate
taxes for domestic companies.
Options :

1. ¥ revive, announced
2. % revives, announce
3. # reviving, announces

4. # revived, announced

Question Number : 67 Question Id : 9277598171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, a sentence is provided with two blanks. Choose the correct combination of words that fit into the corresponding blanks.

In a bid to investment activity, Finance Minister Nirmala Sitharaman on September 21, 2019 a sharp cut in corporate
taxes for domestic companies.

Options :

1. ¥ revive, announced
2. % revives, announce
3. #® reviving, announces

4. # revived, announced



Question Number : 68 Question Id : 9277598172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question given below, a sentence is given with two blanks. Choose the correct combination of words that fit into the
corresponding blanks.

The heavyweight wrestler positive for a substance during last month’s Olympic qualifying tournament in Sofia, Bulgaria.
Options :

1. # tested, prohibit

2. # testing, prohibited

3. ¥ tested, prohibited

4. # test, prohibiting

Question Number : 68 Question Id : 9277598172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question given below, a sentence is given with two blanks. Choose the correct combination of words that fit into the
corresponding blanks.

The heavyweight wrestler positive for a substance during last month’s Olympic qualifying tournament in Sofia, Bulgaria.
Options :

1. # tested, prohibit

2. % testing, prohibited

3. % tested, prohibited

4. % test, prohibiting

Question Number : 69 Question Id : 9277598173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

(P) There my father suggested that we go for a cable car ride to Sentosa.
(Q) We were at Mount Faber Park, enjoying the cool evening breeze and the scenic view.



(R) "It will be an experience for the girls," Dad claimed as my mother raised her eyebrows, questioning the wisdom of his decision.
(S) The Park provides a breath-taking view with its slope having a tower which is a part of the cable car system.

Options :

1. # PQSR
2. % RSQP
3. # PRQS
4. ¥ QSPR

Question Number : 69 Question Id : 9277598173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

(P) There my father suggested that we go for a cable car ride to Sentosa.

(Q) We were at Mount Faber Park, enjoying the cool evening breeze and the scenic view.

(R) "It will be an experience for the girls," Dad claimed as my mother raised her eyebrows, questioning the wisdom of his decision.
(S) The Park provides a breath-taking view with its slope having a tower which is a part of the cable car system.

Options :

1. % PQSR
2. % RSQP
3. # PRQS
4. ¥ QSPR

Question Number : 70 Question Id : 9277598174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the synonym for the given word.

ENGULF
Options :
1. # encroach
2. % enshrine

3. % envelop



4. # entangle

Question Number : 70 Question Id : 9277598174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the synonym for the given word.

ENGULF
Options :
1. # encroach
2. % enshrine
3. % envelop

4. % entangle

Question Number : 71 Question Id : 9277598175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the antonym for the given word.

ILLUSION
Options :

1. ¥ Reality

2. % Mirage

3. % Hallucination
4. # Fantasy

Question Number : 71 Question Id : 9277598175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the antonym for the given word.

ILLUSION
Options :



1. ¥ Reality
2. # Mirage
3. % Hallucination
4. # Fantasy

Question Number : 72 Question Id : 9277598176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the incorrectly spelt word.

Options :

1. # Assortment

2. # Burnished

3. % Obliterate

4. % Perfidioussness

Question Number : 72 Question Id : 9277598176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the incorrectly spelt word.

Options :

1. # Assortment

2. # Burnished

3. % Obliterate

4. % Perfidioussness

Question Number : 73 Question Id : 9277598177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # Impovarish

2. % Immpoverish



3. % Impoverish

4. ¥ Immpovarish

Question Number : 73 Question Id : 9277598177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. #® Impovarish

2. % Immpoverish

3. % Impoverish

4. ® Immpovarish

Question Number : 74 Question Id : 9277598178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

Face the music

Options :

1. #® To be likely to be successful in the future.

2. # To finally get an advantage from an argument.

3. # To be much more successful than your competitors.

4. ¥ To be confronted with the unpleasant consequences of one's actions.

Question Number : 74 Question Id : 9277598178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

Face the music
Options :
1. # To be likely to be successful in the future.



2. # To finally get an advantage from an argument.
3. % To be much more successful than your competitors.

4. ¥ To be confronted with the unpleasant consequences of one's actions.

Question Number : 75 Question Id : 9277598179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the following group of words.

Strike repeatedly with the fists.
Options :

1. # Agony

2. % Pummel

3. # Anguish

4. % Respite

Question Number : 75 Question Id : 9277598179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the following group of words.

Strike repeatedly with the fists.

Options :

1. ¥ Agony

2. ¥ Pummel

3. % Anguish

4. % Respite

Sub-Section Number : 2
Sub-Section Id : 927759392
Question Shuffling Allowed : Yes

Question Id : 9277598180 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (76 to 80)
Read the following passage and answer the questions below.

Thomas Cruise Mapother IV is an American actor and producer. He has received various accolades for his work, including three Golden Globe
Awards and three nominations for Academy Awards. He is one of the highest-paid actors in the world. His films have grossed over $4 billion in
North America and over $10.1 billion worldwide, making him one of the highest-grossing box office stars of all time. Cruise began acting in the
early 1980s and made his breakthrough with leading roles in the comedy film Risky Business (1983) and action drama film Top Gun (1986).
Critical acclaim came with his roles in the drama films The Color of Money (1986), Rain Man (1988), and Born on the Fourth of July (1989). For
his portrayal of Ron Kovic in the latter, he won a Golden Globe Award and received a nomination for the Academy Award for Best Actor.

As a leading Hollywood star in the 1990s, he starred in several commercially successful films, including the drama A Few Good Men (1992), the
thriller The Firm (1993), the horror film Interview with the Vampire (1994), and the romance Jerry Maguire (1996). For his role in the latter, he
won a Golden Globe Award for Best Actor and received his second Academy Award nomination. Cruise's performance as a motivational speaker
in the drama film Magnolia (1999) earned him another Golden Globe Award and a nomination for the Academy Award for Best Supporting
Actor.

As an action star, he has played Ethan Hunt in all six of the Mission: Impossible films from 1996 to 2018. He also starred in science fiction and
action films, including Vanilla Sky (2001), Minority Report (2002), The Last Samurai (2003), Collateral (2004), War of the Worlds (2005),
Knight and Day (2010), Jack Reacher (2012), Oblivion (2013), Edge of Tomorrow (2014), and The Mummy (2017). Cruise has been married to
actresses Mimi Rogers, Nicole Kidman, and Katie Holmes.

Sub questions

Question Number : 76 Question Id : 9277598181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following films doesn’t have a science fiction genre?
Options :

1. * Edge of Tomorrow

2. % Rain Man

3. % Minority Report

4. * Vanilla Sky

Question Number : 77 Question Id : 9277598182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the word ‘Accolades’ mean in the given passage.
Options :



1. ¥ Acclamation
2. % Blandishment
3. % Corpulence

4, % Exacerbation

Question Number : 78 Question Id : 9277598183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At the starting of his career, for which of the following films Thomas got critical acclaim?
Options :

1. # A Few Good Men

2. % Magnolia

3. ¥ The Color of Money

4. % Knight and Day

Question Number : 79 Question Id : 9277598184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Thomas has been married to three women. Which of the following is not one of his wives?
Options :

1. # Nicole Kidman

2. # Katie Holmes

3. % Ron Kovic

4. % Mimi Rogers

Question Number : 80 Question Id : 9277598185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements, is NOT correct here, according to the given passage?
Options :

1. #* Thomas has married three women in his life.

2. % Thomas has had four nominations for Academy Awards.



3. % Thomas has also been part of horror films.

4. # Thomas’ films have grossed over $10.1 billion worldwide.

Question Id : 9277598180 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

Thomas Cruise Mapother IV is an American actor and producer. He has received various accolades for his work, including three Golden Globe
Awards and three nominations for Academy Awards. He is one of the highest-paid actors in the world. His films have grossed over $4 billion in
North America and over $10.1 billion worldwide, making him one of the highest-grossing box office stars of all time. Cruise began acting in the
early 1980s and made his breakthrough with leading roles in the comedy film Risky Business (1983) and action drama film Top Gun (1986).
Critical acclaim came with his roles in the drama films The Color of Money (1986), Rain Man (1988), and Born on the Fourth of July (1989). For
his portrayal of Ron Kovic in the latter, he won a Golden Globe Award and received a nomination for the Academy Award for Best Actor.

As a leading Hollywood star in the 1990s, he starred in several commercially successful films, including the drama A Few Good Men (1992), the
thriller The Firm (1993), the horror film Interview with the Vampire (1994), and the romance Jerry Maguire (1996). For his role in the latter, he
won a Golden Globe Award for Best Actor and received his second Academy Award nomination. Cruise's performance as a motivational speaker
in the drama film Magnolia (1999) earned him another Golden Globe Award and a nomination for the Academy Award for Best Supporting
Actor.

As an action star, he has played Ethan Hunt in all six of the Mission: Impossible films from 1996 to 2018. He also starred in science fiction and
action films, including Vanilla Sky (2001), Minority Report (2002), The Last Samurai (2003), Collateral (2004), War of the Worlds (2005),
Knight and Day (2010), Jack Reacher (2012), Oblivion (2013), Edge of Tomorrow (2014), and The Mummy (2017). Cruise has been married to
actresses Mimi Rogers, Nicole Kidman, and Katie Holmes.

Sub questions

Question Number : 76 Question Id : 9277598181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following films doesn’t have a science fiction genre?
Options :

1. # Edge of Tomorrow

2. ¥ Rain Man

3. # Minority Report

4. % Vanilla Sky



Question Number : 77 Question Id : 9277598182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the word ‘Accolades’ mean in the given passage.
Options :

1. ¥ Acclamation

2. # Blandishment

3. % Corpulence

4. % Exacerbation

Question Number : 78 Question Id : 9277598183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At the starting of his career, for which of the following films Thomas got critical acclaim?
Options :

1. % A Few Good Men

2. % Magnolia

3. % The Color of Money

4. ¥ Knight and Day

Question Number : 79 Question Id : 9277598184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Thomas has been married to three women. Which of the following is not one of his wives?
Options :

1. # Nicole Kidman

2. # Katie Holmes

3. % Ron Kovic

4. ¥ Mimi Rogers

Question Number : 80 Question Id : 9277598185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements, is NOT correct here, according to the given passage?

Options :

1. % Thomas has married three women in his life.

2. % Thomas has had four nominations for Academy Awards.

3. # Thomas has also been part of horror films.

4. % Thomas’ films have grossed over $10.1 billion worldwide.
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Question Number : 81 Question Id : 9277598186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR o ¥ -9 STl HTa THN &1 3aTeRUl -To! 87
Options :

1. % 1RUC

2. % Ufdepd

3. ¥ A=Y

4, ¢ IGIHHAR

Question Number : 81 Question Id : 9277598186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FfRad & 9 HIH-31 SfeadTHIa THY BT a6l T8 67
Options :

1. ® \RUC

2. % gidpd

3. % =Y

4. ¥ GIHHR

Question Number : 82 Question Id : 9277598187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffeRad ® A daHd Weg BT TG HIfvIL-
Options :

1. ® =

2. % did

3. ¢ dIoll

4. % P



Question Number : 82 Question Id : 9277598187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffeed # @ davd Wee &1 99 BT
Options :

1. ® =

2. % did

3. ¢ dIoll

4. % P

Question Number : 83 Question Id : 9277598188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffafed o @ oH-u1 Treg faaet Sfer &1 Iarerur g2
Options :

1. % fqurel

2. ¢ fRIBR

3. % GHNTHA

4. % T

Question Number : 83 Question Id : 9277598188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frfafed & 9 oiF-1 2reg faut Wiy &1 3w g2
Options :

1. # faurst

2. ¢ FRIBR

3. % GOHNTHA

4. % I



Question Number : 84 Question Id : 9277598189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefoRed # @ ®F-91 ¥rsg i3 Teamaras faLmu &1 3eesu 82
Options :

1. ¥ $9 ¥UU

2. % Y19 TgH

3. % 3fde O

4. ¥ FHE

Question Number : 84 Question Id : 9277598189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfeRad 7 @ o19-91 Tee Y Searee Qv &1 3eeRu 82
Options :

1. % 98 ¥UU

2. % Y19 3fTgH!

3. % i U

4. ¥ 3BT

Question Number : 85 Question Id : 9277598190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrefafed & ¥ eR &1 vafgard Teg HH-91 T6 32
Options :

1. % IR0

2. ¢ fqenfdmt

3. % I

4. % @9

Question Number : 85 Question Id : 9277598190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

f=fafad § § deR &1 yafgarh weg S1F-91 T8l 82
Options :

1. ® ART

2. ¢ Tyt

3. % g

4. % &g

Question Number : 86 Question Id : 9277598191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfoied o O Wreg-gm & Tal 31f-0G &1 99 BifoTe-
fRAR

Options :

1. % ar-ef

2. % AT

3. ¢ dd-BUsl

4, ¥ WR[F-STRU

Question Number : 86 Question Id : 9277598191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFffEd & @ Wea-gm & gl 31d-Hg BT 99 Hifor-
fR-AR

Options :

1. % YEqr-vedt

2. % AT

3. ¢ S HUel

4, % QRG-SR



Question Number : 87 Question Id : 9277598192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfafed & @ argar &1 fadm e HH-a18?
Options :

1. v TR

2. % {IYRO[

3. % 3fre

4, % J=5d™g

Question Number : 87 Question Id : 9277598192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frfafea & 9 arda &1 fady e $H-91 82
Options :

1. ¥ 7IRd

2. % YR

3. % 3JfRre

4, % J=5dg

Question Number : 88 Question Id : 9277598193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T aTeRIT=T & foTT Ueh Xsg b1 T HIToTL-

Ul & TR WEfUT T ufed A gl

Options :

1. # 3Hd¥Y

2. ¢ 3T
3. % JMEMAR



4. % Ity

Question Number : 88 Question Id : 9277598193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TTQ aTerRieT o foTT Ueh Req T =T HITTT-

T &g TR A&0T T gfed 7 giHl-
Options :

1. % 3{d¥

2. ¢ AT

3. % JMEMUD

4. % AT

Question Number : 89 Question Id : 9277598194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fmforiRad # ¥ 3R[G ad! aTdt aTed BT 99 Pifore-
Options :

1. % JTb] HTT IR 3R gAY B

2. % YT H AT G|

3. ¢ ¥ 39! Iqdar ¥ UHIfad §

4. % THPI IaRGMT HH 52

Question Number : 89 Question Id : 9277598194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=eRad & O R[S ad- arel a1 &1 9a HIfoTe-
Options :
1. % DT U IR 3R Y g

2. % YT HYTT ST |




3. ¢ T 319! Argdal ¥ UHIfad g |
4. % TP IS B 82

Question Number : 90 Question Id : 9277598195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad # T dhdarad argd &1 99 Hitle-
Options :

1. % 3§ qP dg STIYR Ugd el ghTl|

2. % gTg! fHaT FIRA =W B |

3. % SN, HigH ol JaTh dref|

4. ¢ e, quf 9 Idl df ITeF & Had BRI 81 e |

Question Number : 90 Question Id : 9277598195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfoRad # O b dds e &1 994 BIfoTL-
Options :

1. % 3(q dd g SIAYR Ugd bl gl |

2. % g1g! fha T FARA e g |

3. % SII3{l, Ag Dl el 13|

4.« e Iu 7 Bl < T &) Bad BR1d 81 S|

Question Number : 91 Question Id : 9277598196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 7 3 feg arga # 3ifexu sRe 3t fauiad o1 v fosar man g2
Options :

1. % 5 UY! & B

2.+ 31b THY TR 31 ST

3. % g o faw g arsn|




4. % 3T IS A BT g

Question Number : 91 Question Id : 9277598196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAeferad # 3 forg gt H 3ifiievur sR& @ faufa &1 v fear mar g2
Options :

1. % YUY ETHU|

2. ¢ 31 Y TR 3T S|

3. % fRrefep & forw amg e |

4. % TV 3O Y BTG

Question Number : 92 Question Id : 9277598197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR O 9§ 91 & UHR BT 9G4 DIfTL-

fEaTelt IR W9 S<di gRT Uerd 9/ 9Td g |
Options :

1. ¥ HUarA

2. ® Y[darg

3. % Hydrd

4. % fopgrar

Question Number : 92 Question Id : 9277598197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feTfeTRad & U 9T & YBR b1 Ig DIfoIT-

feaTelt IR Id §=d §RT U 9ol OTd © |
Options :

|. ¢ HHa




2. ® YiqdrH

3. % Hydrd
4. % fopararg

Question Number : 93 Question Id : 9277598198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRea o 9 o gerar &1 o1 vamr ARAT 82
Options :

1. % ISl IdRA

2. % AR R dg-T|

3. ® UM G

4. WSl BT

Question Number : 93 Question Id : 9277598198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=ferRad & § fo garak &1 orf T ARAT 82
Options :

1. % QTSI AR

2. % AR R de-T|

3. % gHI &

4. &l eI

Question Number : 94 Question Id : 9277598199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfeRad o § fog Aeifad o1 o i &1 I 52
Options :

1. ¢ 891 Y O IS T, BT A SaH |

2. % GIY DI B SR 1, Ue-eRd b1 BRT M|




3. % TR O T IR UaH T T
4. % {9l & UFg 9 BT gl

Question Number : 94 Question Id : 9277598199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=faied o 9 forg Aeifad &1 s e &1 g 82
Options :

1. ¢ 8T Y Q38 T, ST HA Sl |

2. % BIY HIH gl 3R 1, Ye-foRd Bl BRI 1|

3. % T o TR OR UaH A TR

4. % foecll & UG 9 BlhT el

Question Number : 95 Question Id : 9277598200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I BT aH Vg o1 52 FafaRad & @ 3fa fdewed &1 9om Sifor:
Options :

1. # P

2. ¥ 3@

3. % 3fiq®

4, & I[P

Question Number : 95 Question Id : 9277598200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRL BT TG Voa T 52 MARARIT H & Iferd faebed &1 =g Hifera:
Options :

1. # $HP

2.V IGF

3. % 3P




4. % ISP

Sub-Section Number : 2
Sub-Section Id : 927759394
Question Shuffling Allowed : Yes

Question Id : 9277598201 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TR TTRIT=T ST AT gd® 378qa R U=AT & SR GIToTe-

W@uﬁ%e&qﬁ&mﬁ%ﬂ, 31U TR 1 HEPIcT qUT HIST b U UH SR SHTH 989 81 1d 5, 96 31U Y, 30 STHyfH 3R
RITHTYT o FTT UTOT 1 I R D1 d R 8l o, Ford G¥ & FMaTRidl & gad H 98 IR HIdAT ol gidl ag XY, TRIEH BIh 30
Y-l 3R G a1 o forw @ o3dT 3, S=ufdRT SR Frdeies fod & o1 AP He &1 $ifiia 81 781 X8 Tohdl gg HIgHT 34 39
STd 6T T B3 D1 URd Bl § o a8 3T T gaall o & HR S BT IR0 &y, 4 IR FRR | SR U1 & e a1, qo &1
B TR Sfed AT oM TheH SRAIHR B <, 30+ FHTS & Ul Haed d T8 AredhR 34 U A1 ¢ |

Sub questions

Question Number : 96 Question Id : 9277598202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUYa e &1 e 7  2five g
Options :

1. % 3 BT Hg@|

2. % FHTS & Ufd Boicd-5a]|

3. % Iepld qUT YT & Ufd 9|

4. APITHAR

Question Number : 97 Question Id : 9277598203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TN & AR, 1 7 | e forg S=rufa ofva wwelt 82
Options :

1. % e ¢ 3fofd H & forw|



2. % HId ATIG UTHT BT JH ARe= & foru|
3. ¢ SFITIA BT FaRU & & fer|
4. % TR o1 haa g B & forg|

Question Number : 98 Question Id : 9277598204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR, TRIENH I1eC T dear gl
Options :

1. % 3O YrI-Tferen]

2. % 3T Ay

3. % 3T HIT|

4. O Il

Question Number : 99 Question Id : 9277598205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RreRiRa & & R g &1 A T e b 7 2
Options :

1. % I

2. % M

3. ¢ WIDHR

4. % Hgl

Question Number : 100 Question Id : 9277598206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iudad TR & SR, i # ¥ HH-91 Y= Iuded T # gui U ¥ afvfd g2

Options :

1. % U APINAMT & §ad H 30 G, 30 &= BT UKP I qUT HIWT &b Ul U SR SHHH 781 gl 3|

2. % YA APMHAT & §E H 30 G, TR G 1 UIKPIdl TUT HINT & Ul UH SR SHATT 3148 g1 il 8|
3. % UHHE APINAMT & gad H 30 G2, TR G 1 HHId T HINT & Ufcl shief SR SHTHH & il 5 |




4.« YA AFTH & g H S0 ST, ST ST B TXBIA TUT U & Tf O SR 31T wewl &) gl 81

Question Id : 9277598201 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TR I T AT YD SE HR YA & IR alford-

TS APTAMT & gad H 30 G, 3 &R B UKp Il qUT HINT & Ul U SR SITHHM G881 Bidl 8, I8 37U Y, U1 SHHfH 3R
RTFHTYT o o UTOT T Sl 3 1 U d e 3§l &, Ford 41 & Rl & gad & I8 St HIGHT 781 gcht Jg XY, TRTE §IobR 3o+t
-l SR G Ta&T o forw @ o3 3, SRIufdRT SR Ardeieh fod & o1 AP Ae &1 i@ 81 781 I8 Tohdl gg HIgHT 34 39
ST &1 UTd B DI IR Falt ¢ b I8 3ama T gaal Bt & HR SFIRIG o1 FHaru &3, o R fRR I3 3R T & e 73, 9as &t
g1 TR S ATH oM UheH SRAIBR &R <, 3T+ FHTS & Ui Haed I T AreHR 39 411 A1 ¢ |

Sub questions

Question Number : 96 Question Id : 9277598202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUa T 1 e B 2 w7
Options :

1. % 3fHH BT HEd |

2. % AT & Yfd Hdsal|

3. % GIPid aYT U & Ufd U |

4. & PIHAM

Question Number : 97 Question Id : 9277598203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUdad TR & SR, A & § g fore Servfaa Ifvd et 82
Options :

1. % 3 o SHfSid B b ferg |

2. % DHad I HTHT BT I HRaA & fera|

3. ¢ 3FITId &1 FaRU &4 & o



4. % I P AU HIaHH g5 HA & |

Question Number : 98 Question Id : 9277598204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUdad TR & TR, TRIEH T T Sodr gl
Options :

1. % 3{U-T =rg-uferep!

2. % U7 ™

3. % 3OS HIWT|

4. ¥ 30 Igfg

Question Number : 99 Question Id : 9277598205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaRad o § o <ree &1 v T & 78 fovan g2
Options :

1. % I

2. % IR

3. ¢ DR

4. % Hgl

Question Number : 100 Question Id : 9277598206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UG T & TR, 1 H & HIF-H1 o Iugerd el # quf 0 9§ afofd 82

Options :

1. % U AV & gau H 370 X, 30 &R B IXHId quT HINT & Ul UF STR SHfHHH 781 gian 6|

2. % A AFTAF &b g B oo =T, GOR A P TWpTa T U7 & T 9 3R 1 g € g B
3. % THHE APTHFI & TG H 30 G, TR G b1 HXPIdl TUT HINT & Ufd 1Y 3R SHfHH g gar 8|

4. ¢ UAD APIHAT & TG H U <, 30 <R B AP TUT HIST & Ul UH 3R A 8w 81 8l 6 |
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Question Number : 101 Question Id : 9277598207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Line spectra of an atom is also known as :
Options :

1. ¥ Fingerprints of atom



2. # Duplication of an atom
3. # Prints of atom

4. * shadow of atom

Question Number : 101 Question Id : 9277598207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forlt TRmTY] & YT WaeT &1 39 A1 Ht ST S 8
Options :

1. ¢ TRUY] &1 BY

2. % Teh URATY] ] fg[uH

3. % RAT & fUic

4. % ORAU] 1 BT

Question Number : 102 Question Id : 9277598208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The restriction of any property to discrete values and not continuous values is called
Options :

1. % spectra
2. ¥ quantization
3. % threshold

4. ® absorption

Question Number : 102 Question Id : 9277598208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 dd A & forg foeeft off 1701 & Uy 3R AR Jedl & fore ufdee 8t 8, 39 CIHRSIGIE]
Options :

1. % W

2. ¢ BHICIBRI




3. % JHITHH (IRN6S)
4. % 3{qEyl

Question Number : 103 Question Id : 9277598209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not true for kinetic molecular theory of gases?

Options :

1. # Actual volume of gas molecules is negligible in comparison to the total volume of the gas
2. ¥ particles of gases do not collide with each other

3. % particles of gases collide with the walls of container

4. ® particles of gas are in constant random motion

Question Number : 103 Question Id : 9277598209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiead & @ & a1 79 & Tfas sropfa Rigia & fore g 6 /2

Options :

1. % TP A T BI o1 J I & U3 HT qRdfadh 3 9gd HH Bidl o
2.« G & HUT 309 § Fufed A8 gid &

3. % 1 P BU UE P daR] F Fufed §1d &

4. % Y & HU] FRR grefss a8

Question Number : 104 Question Id : 9277598210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct formula of Amontons' law?
Options :

1.¥ Pl =TIl =P2+ T2

2. % P1+V1=P2+VI

3. % TI+V1=T2+V2



4. % P1+T2=P2~+T1

Question Number : 104 Question Id : 9277598210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 oF 91 s & Fad &1 98 @ 82
Options :

1. ¥ P1 +TIl=P2+ T2

2. % P1+V1=P2+VI1

3. TI=V1=T2+V2

4. % P1+=T2=P2~+Tl

Question Number : 105 Question Id : 9277598211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Number of structural isomers can be formed by the compound CsHis:
Options :

1. * 8

2.9 18

3. % 35

4. % 5

Question Number : 105 Question Id : 9277598211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GIRTD i GRT ST TAHD SHTSHHY DT UG ©:
Options :

1. % 8

2.9 18

3. % 35

4. % 5



Question Number : 106 Question Id : 9277598212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The thermodynamic process having same initial and final state are called :
Options :

1. # Adiabatic process

2. # Isobaric process

3. % Cyclic process

4. ¥ Isochoric process

Question Number : 106 Question Id : 9277598212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 81 RIS SR SHfTH AR Tl SEANTAS UehH B Bl oIl 6
Options :

1. % G UehH

2. % JHGIE! UshH

3. ¢ ThIT UshH

4. % UMD YbH

Question Number : 107 Question Id : 9277598213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a extensive property?
Options :

1. # volume

2. % enthalpy

3. * mass

4. % refractive index

Question Number : 107 Question Id : 9277598213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafofed & & 91 foxarTEs o T8 82
Options :

1. % g

2. % gl ST

3. % g

4. ¢ 3OaqHID

Question Number : 108 Question Id : 9277598214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true for hydration enthalpy?
Options :

1. ¥ Li* >Na">K* >Rb*

2. % Li*<Na' <K' <Rb*

3. ® Na' < Li*<K'<Rb*

4. ¥ Li*< Rb*<K* <Na*

Question Number : 108 Question Id : 9277598214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & ¥ & a1 Saared qof S 1 & fog v 82
Options :

1. ¥ Li* >Na™>K* >Rb*

2. % Li*<Na* <K' <Rb*

3. ® Na' < Li*<K*<Rb*

4, # Li'< Rb'<K* <Na*

Question Number : 109 Question Id : 9277598215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who was one of the persons who discovered the element Argon?
Options :

1. ¥ Sir William Ramsay

2. % Janssen

3. % Lockyer

4. % Dorn

Question Number : 109 Question Id : 9277598215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T B! WISl PR a1 Afaeadl § I Th DI A2
Options :

1. R faferod Im

2. % S

3. % AlPW

4. % H

Question Number : 110 Question Id : 9277598216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the colour of Rubidium ?
Options :

1. % blue

2. % green

3. ® yellow

4. ¥ silvery -white

Question Number : 110 Question Id : 9277598216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sfafeam BT TR



Options :

Question Number : 111 Question Id : 9277598217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is reagent used in Halogenation?
Options :

1. ¥ Anhydrous FeBrs

2. % Hydrous AICls

3. % NaCl

4, % KCI

Question Number : 111 Question Id : 9277598217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & 3 o a1 s He galtor J TRINT o STt 62
Options :

1. ¥ WFGBB

2. % BIggY AICls

3. % NaCl

4. % KCI

Question Number : 112 Question Id : 9277598218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a Non -polar solvent?
Options :



1. ® CCls
2. % CS,
3. ¥ CeHs
4. ¥ H.0

Question Number : 112 Question Id : 9277598218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafifed # 3 oF R-yd e Te 32
Options :

1. % CCls

2. % CS,

3. % CeHs

4. ¥ H.0

Question Number : 113 Question Id : 9277598219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1-1-Dihalides are commonly known as:
Options :

1. ¥ geminal dihalide

2. # vicinal dihalide

3. # iso- dihalides

4. # tetra-dihalide

Question Number : 113 Question Id : 9277598219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1-1-SATSS &l raIa: (99 =0 H ST 911 8

Options :

1. ¢ Sfd S5eaRs




2. % JRRAd SReAREs
3. % IE)-STRARST
4. % TSRS

Question Number : 114 Question Id : 9277598220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not application of electrochemical series?
Options :

1. # Comparing the relative oxidising and reducing strength of substances
2. # Calculating e.m.f. of the any cell

3. # Predict the feasibility of a redox reaction

4. ¥ it can not predict whether a metal can liberate hydrogen from acid or not .

Question Number : 114 Question Id : 9277598220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead & @ ®F 9 faggd JTmafe SR BT SIIanT 781 82

Options :

1. % Terf &1 ATOef TaRAIHRUT IR UTT &Hdl BI ol Bl §

2. % 5 i 9A P e.m.f. B TUAT HRAT §

3. % YSIRT SNTHAT Bt TIgRIdT BT GarJHH Bl &

4.+ T8 GaIqHM el B Tahd [oh YT 3 I BT SIo Jad B qdbdl g a1 el |

Question Number : 115 Question Id : 9277598221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not Factors affecting electrolytic conduction ?
Options :

1. ® Temperature

2. % nature of electrolytes



3. # concentration of solution

4. ¥ pressure

Question Number : 115 Question Id : 9277598221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed # I &1 91 faggd srgcd are & THTTAd B a1d HRE -6l 87

Options :

1. % douH

2. % faggd-suucy & Upid
3. % fqerg ot Figd

4. 34

Question Number : 116 Question Id : 9277598222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is used in treatment of lead poisoning ?
Options :

1. ¥ EDTA

2. # Nickel

3. ® Zinc

4. % DMG

Question Number : 116 Question Id : 9277598222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & 3 fge SuanT ois 3t fauraddr & Su=R # fhar Sirar g2

Options :
1. ¥ EDTA
2. % (Apd
3. % ST



4. # DMG

Question Number : 117 Question Id : 9277598223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which catalyst of the following is NOT commonly used for Hydrogenation reactions?
Options :

1. ¥ Plastic

2. # Nickel

3. % Platinum

4. # Palladium

Question Number : 117 Question Id : 9277598223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRed & ¥ ®1F 91 SRS AR WR RS SHIHR0T Siffeharaft & oy SuanT gt fovar S g2
Options :

1. ¥ ®IRED

2. % o

3. % wifem

4. % fegH

Question Number : 118 Question Id : 9277598224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The IUPAC name of the complex NI(CO)a.
Options :

1. ¥ Tetracarbonyl nickel

2. ® Tetracarbo nickel

3. % Tetranickel carbonate

4. % Carbonate tetra nickel



Question Number : 118 Question Id : 9277598224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS (IR ) NI(CO). BT TUPAC M|
Options :

1. ¥ CTIHIEIAA M d

2. % DG HHd

3. % CCMbd BlaHT

4. % PEMHe el Faoa

Question Number : 119 Question Id : 9277598225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the [IUPAC name of C.HsN(CHs)CH.CH>CH2>CHs ?
Options :

1. ¥ N-Ethyl-N-methyl butylamine

2. ¥ N-Methyl-N-methyl butylamine

3. ¥ N- Butylamine

4. # N- Propyl-Butylamine

Question Number : 119 Question Id : 9277598225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
C>HsN(CH3)CH>CH>CH-CHs &1 IUPAC T 7 8RTI?
Options :

1. ¢ N-URQ-N-THUS e STreauars-

2. % N-THUEH-N-AUSd SFergauarE

3. % N-SJETSTUAEH

4. % N- S-S AUHTS




Question Number : 120 Question Id : 9277598226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of terpene?
Options :

1. ¥ Limonene

2. ¥ amine

3. * benzene

4. % halothane

Question Number : 120 Question Id : 9277598226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfITEd & ¥ 19 91 TRUH 1 3T6R0 52
Options :

1. ¢ ARHMM

2. % THH

3. % dofiA

4. % AT
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Question Number : 121 Question Id : 9277598227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a use of Acetic acid?

Options :

1. # Production of vinyl acetate monomer

2. # As Vinegar

3. # As antiseptic against pseudomonas, enterococci, streptococci, staphylococci and others
4. ¥ As pain killer

Question Number : 121 Question Id : 9277598227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiad § @ o9 a1 TRifes 3t &1 IugiT T 32

Options :

1. % [J93d TIeT HHMR &1 IdleH
2. % RR&TH ®UH

3. % YHHN, TRIDID!, KPIDIP!, LhA® R 3R 30 & RIars TCRfPs & U H




4. ¢ TE aRe & ®U H

Question Number : 122 Question Id : 9277598228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not true for reaction rate?
Options :

1. #® Rate of reaction depends upon temperature

2. ® larger the surface area faster will be the reaction
3. ¥ depends upon the concentration of the product

4. ® depends upon the nature of the reactants

Question Number : 122 Question Id : 9277598228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad o 9 oF a1 sifiifehan &R & fore I 181 82

Options :

1. % Sfffehar Bt R agHE R AR Al &

2. % qdg BT ATHA FIdHT I&1 8N, -1 of dont & fffemar grft
3. ¥ JUG BT GhgUl R R axar g

4. % 3RIBRBI B UPHid W IR a3

Question Number : 123 Question Id : 9277598229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is application of Le Chatelier's principle?
Options :

1. ¥ Manufacturing of ammonia

2. # Manufacturing of nitric oxides

3. # melting of ice

4. % freezing of ice



Question Number : 123 Question Id : 9277598229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o 1 a-afed &1 fad &1 SuanT 82
Options :

1. ¢ ST T A

2. % EfeH HTRISS BT AT

3. % gt B fUger

4. % §b BT AT

Question Number : 124 Question Id : 9277598230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Phylloquinone is scientific name of :
Options :

1. # Vitamin A

2. % Vitamin K

3. % Vitamin C

4. # Vitamin D

Question Number : 124 Question Id : 9277598230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ISdI T -5 &1 IR TH S -

Options :

1. % faerfia A
2. ¢ fdeiffH K
3. % faerffq
4. % fderfia D



Question Number : 125 Question Id : 9277598231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who discovered DNA finger printing?
Options :

1. # Prof. Lalji Singh

2. % Dr. Har Gobind

3. % Alec Jeffreys

4. % Marshall

Question Number : 125 Question Id : 9277598231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T DNA SRIcH BTUA &1 Wil D12
Options :

1. % UIthER dreroll ¥

2. % B[ gNdg

3. ¢ T SR

4. % O

Question Number : 126 Question Id : 9277598232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The maximum number of electrons in an atom which can have n=2.
Options :

1. # four

2. # five

3. #® sixteen

4. ¥ cight

Question Number : 126 Question Id : 9277598232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TS RHTY H ZaaeHl &1 HfIHaH T forid n=2 g &dl g |
Options :

1. % IR

2. % U

3. % qielg

4. ¢ 3o

Question Number : 127 Question Id : 9277598233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
's Exclusion Principle states that no two electrons in the same atom can have identical values for all four of their quantum

numbers.

Options :

1. * Erwin Schrodinger
2. ¥ Wolfgang Pauli

3. * Niels Bohr

4. % Werner Heisenberg

Question Number : 127 Question Id : 9277598233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT 3udoi Rigid (TaaaaeH HiRud) sardr | i ue g uvmm & o off <t gaae -t & 9t TR sien TRemsii & forg gum
A -Te] 51 9 § |
Options :

1. % 3ffdT gifs TR

” C o
4. ®% g} glgol-dT]

Question Number : 128 Question Id : 9277598234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a quantum number?
Options :

1. # Azimuthal quantum number

2. ® Magnetic quantum number

3. ¥ Level quantum number

4. ® Spin quantum number

Question Number : 128 Question Id : 9277598234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraforfaa # § o9 T siew e T8 g2
Options :

1. % UM ey e

2. % 1Y Bl T

3. ¢ TR HI<H GBS

4. % UIHU HI<H BT

Question Number : 129 Question Id : 9277598235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not true as a limitation of valence bond theory?

Options :

1. # This theory could not explain the perfect geometries of molecule such as Ammonia, Methane, Water etc.
2. % Magnetic properties of molecule is not explained in this theory.

3. ® This theory did not given perfect bond angle of the molecules like water, CO,, Ammonia etc.

4. ¥ This theory does not differentiate between strong sigma bonds and weak pi bonds.

Question Number : 129 Question Id : 9277598235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafoied 7 9 &F 91 aeear ey Rigid & THT & ©0 § 9d 781 82
Options :

1. # gg Rygid o] & ug! snfifa S srif=a, Hiem, arit 3nfe ot oot =gt R TaT|
2. % 39 RIGId o 310] & G 1g Ul &1 RS g DI T3 6 |

3. % 39 RIGid A url, Co,, smf=an 3nfe S Srujefl &1 gui ey Sior g1 fean|

4. ¢ g8 RIgid Aot R sae 3R HHOIR pi MY & o9 3R T8l Hrdl g |

Question Number : 130 Question Id : 9277598236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following refers to the spatial arrangement of ligands around central metal atom/ion ?
Options :

1. ¥ coordination polyhedron

2. # coordination hedron

3. % coordination octahedral

4. ® coordination polyoctahedron

Question Number : 130 Question Id : 9277598236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRd & @ ®F 91 S UTg TRHTIYSIEH & IRI SR gy & RIS oIawi &1 afifd &l 82
Options :

1. ¥ JHAY dghddh

2. % 99 geH

3. ¥ JHIY (¥hcih

4. % gO-9Y Uldrldeoem

Question Number : 131 Question Id : 9277598237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option refers to the process of decomposing higher hydrocarbons into lower hydrocarbons by strong heating ?



Options :

1. ¥ Cracking

2. # Roasting

3. # vulcanization

4. % substitution

Question Number : 131 Question Id : 9277598237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P Il fahed 3 TRSIDIE ! Holgd 3 T gRT HHGR g2 IdhIa | faufed HR- B! Uiehal B Yafid HRdl 82
Options :

1. ¢ i

2. % AT

3. % qehIRul

4. % giaRTo—

Question Number : 132 Question Id : 9277598238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which option refers to the most stable conformation of cyclohexane?
Options :

1. ¥ Chair shaped

2. % dumbbell shaped

3. # bent T- shaped

4. % distorted octahedral

Question Number : 132 Question Id : 9277598238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P T fadhed Arsaiiod & qad R G200l &I Hefid HRal g2
Options :




1.¥ ﬁ% THR ST (Chair shaped)

2. % SITd o ITHR BT (dumbbell shaped)

3. % HSI g3T T-3H[hR dT (bent T- shaped)

4. % fo=fUd FHadg (distorted octahedral)

Question Number : 133 Question Id : 9277598239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who demonstrated characteristic spectra and initiated the technique of spectroscopic analysis of the chemical composition of matter?
Options :

1. # Hund

2. % Kirchhoff

3. % Maxwell

4, % Boltzmann

Question Number : 133 Question Id : 9277598239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forem faRivaT WeeT &1 UeR far 3R uard &1 I WRaT & Wae ! [aRevor & ah-1d & B3 B2
Options :

1. % S

2. ¢ fhd

3. % HRIAd

4. % dieco|H

Question Number : 134 Question Id : 9277598240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Any vector A , satisfying the condition div A = 0 is called:
Options :

1. # Null vector



2. # Orthogonal vector
3. ¥ Solenoidal vector

4. % Unit vector

Question Number : 134 Question Id : 9277598240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oIz T I A, S fRURT div A = 0 T TP HRaT 8, I HET 91l 6:
Options :

1. % e

2. % Fifgw (NYFm-a) afgw

3. ¢ URATID I FfgwT

4. % IDIg iGN

Question Number : 135 Question Id : 9277598241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Evaluate div(3x?z i- xy?z j + 2yz* k).
Options :

1. ¥ 6xz-2xyz+4yz

2. % 6xz+2xyz+4yz

3. % xz-2xyz+4yz

4. ® 6xz -2xyz +yz

Question Number : 135 Question Id : 9277598241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W Gy div(3x%z i-xy?z j + 2yz* k) |
Options :

1. ¥ 6xz - 2xyz + 4 yz

2. % 6xz+2xyz+4yz



3. % xz-2xyz+4yz
4. % 6xz-2xyz +yz

Question Number : 136 Question Id : 9277598242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dy/ dx= x+4 is the differential equation of order and degree
Options :

1.9 land I

2. % 2and?2

3.% land?2

4. % land3

Question Number : 136 Question Id : 9277598242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dy/ dx= x+4 H 3R f&h BT 3IHT THIHIT g |
Options :

.Y 13R1

2. % 23R 2

3. % 18R 2

4.% 13R3

Question Number : 137 Question Id : 9277598243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Acceleration is to Galilean transformation.
Options :

1. # Variant

2. % Invariant

3. # constant



4, % Maximum

Question Number : 137 Question Id : 9277598243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e FuiaRoI & forg aRom gl
Options :

1. % IRy (a13rT)

2. ¢ JURTAT (3AN3IT)

3. % fodie

4. % 3ffUHaH

Question Number : 138 Question Id : 9277598244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Work done by the net force on a particle is equal to the change in the kinetic energy of the particle. This theorem is called:
Options :

1. # Energy theorem

2. % Work -energy theorem

3. % Power transfer theorem

4. % Betti's theorem

Question Number : 138 Question Id : 9277598244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol ST R Y T GRT 16T T B HUT S el Sroll H IR b aRT6R 81T ¢ | 59 U8 B HgT oIl 6-
Options :

1. % Soll UHg

2. ¢ BRI-Go URY
3. % g[fad 3R UHY
4. % dSI YRy




Question Number : 139 Question Id : 9277598245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the highest velocity that can be attained by an object when it falls through the fluid.

Options :

1. % Average velocity

2. % Terminal velocity

3. # Instantaneous velocity

4. % Relative velocity

Question Number : 139 Question Id : 9277598245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JTqH o7 ¢ ol 59 & A1ead 3§ IR IR foret avg g1 T fom o el g |

Options :

1. % 3fd T
2. ¢ 3ffqa aT
3. % TIGIID ot
4. % GIU& AT

Question Number : 140 Question Id : 9277598246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the resultant electric field is zero at a point then that point is called as:
Options :

1. ¥ Neutral point

2. % Terminal point

3. # Electrical point

4. ¥ Magnetic point

Question Number : 140 Question Id : 9277598246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe aRomd (Reiee) fagga & fest fig W 3 81 df 98 foig &1 el ST &-

Options :

1. ¢ dc feig

2. % ifqu fag

3. % faqgatdg
4. % Jgobiy fog
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Sub-Section Id : 927759397
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9277598247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A low resistance connected in parallel to a moving coil galvanometer to protect it from large currents is known as:
Options :

1. ¥ Shunt

2. % Ammeter

3. #® Voltmeter

4. % Inductor

Question Number : 141 Question Id : 9277598247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS A Heat YRTATH P TT YRTSH J X8 H & [ TR B ISTURRIY & &9 H ST o1l 5-
Options :

1. v Qe

2. % 3HIY

3. % glecHIcy

4. % IR

Question Number : 142 Question Id : 9277598248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The impedance offered by a string to transverse and progressive waves is known as:
Options :

1. * Impedance matching

2. % voltage

3. % Transverse Impedance

4. % Inductance



Question Number : 142 Question Id : 9277598248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T GRT STV 3R WY o1 o e O=1 1 71 faiae &1 % & =0 # ST Sffd 6-
Options :

1. ® YiemyT gre

2. % faHaiR

3. ¢ 3V UfdaTeT (cRay sHite—)

4. % IRDA

Question Number : 143 Question Id : 9277598249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the concave mirror has the radius of curvature 18 cm then its focal length will be:
Options :

1. % 9cm

2. ¥ -9cm

3. % 8cm

4, % _8cm

Question Number : 143 Question Id : 9277598249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Sfadd gUUT BT ashdl (AT 18 cm § A SUD! BIDH gl GHI-
Options :

1. ¥ 9cm

2.% -9cm

3. % 8cm

4, % _8cm



Question Number : 144 Question Id : 9277598250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The relation between Phase velocity (u) and Group velocity(vo) is:

Options :
1. ¥ vo =u -Adwd)r
2. % vo=dwdA

3. % vo=u-\Adu
4. % vo=ul

Question Number : 144 Question Id : 9277598250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TN AT (u) 3R TG AT (vo) P S TS B-

Options :
1. ¥ vo=u -AdwdA
2. % vo=dwdA

3. % vo=u-\Adu
4. % vo=ul

Question Number : 145 Question Id : 9277598251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Heat transfer is an example of:

Options :

1. # Reversible process

2. ¥ Trreversible Process

3. # Polarization

4. # Quasi static process

Question Number : 145 Question Id : 9277598251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ST AR 44 BT IETER 8-
Options :

1. % IchHUNY Ufhar

2. ¢ 3hHUNY UidhdT
3. % gqul

4. % WidepwHea ypH

Question Number : 146 Question Id : 9277598252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The internal energy, U of n moles of an ideal gas of monoatomic molecules is given by equation:
Options :

1. ¥ U=32 nRT

2. % U={2 nRT

3. % U=12 nRT

4, % U=nRT

Question Number : 146 Question Id : 9277598252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THTRHTU UL} P 3ee T & n Hid Bl 31=dRkep Fot, U g Tefiepsor g1 &1 e 2
Options :

1. ¥ U=32 nRT

2. % U={2 nRT

3. % U=12 nRT

4. % U=nRT

Question Number : 147 Question Id : 9277598253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The total radiant energy(E) emitted per second from unit surface area of a black body is proportional to the fourth power of its absolute



temperature (T) is called as:
Options :

1. % Kirchhoff's law

2. # Wien's law

3. % Ohm's law

4. % Stefan -Boltzmann's law

Question Number : 147 Question Id : 9277598253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wg@m%mﬁq@ﬁ AHA I Ui Yo SoToId G [ATBRUl Soll (E) I8P YUl dYHM (T) & A °1d & FHIGUT 8idl 6, 39 Hel
SITdl 8-

Options :

1. % fH¥a® 99 (Kirchhoff's law)
2. % 9 999 (Wien's law)
3. % 3 199 (Ohm's law)

4. ¢ XB A - dieodH Fad (Stefan -Boltzmann's law)

Question Number : 148 Question Id : 9277598254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The JK flip flop work as a T-type toggle flip flop when both of its inputs are set to:
Options :

1. ¥ Zero

2. % one

3. ¥ Maximum

4. # Infinity

Question Number : 148 Question Id : 9277598254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JK U TTT T-UHR SiTa field Uaiid & U § &1 Rl § ofd 39% a1 379e I Ie [ha Sd &,




Options :
1. # JY
2. % Udh
3. % 3ffYHaH
4. % 3fd

Question Number : 149 Question Id : 9277598255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A logic circuit that adds two bits producing a sum and a carry to be used in the next higher position is called as:
Options :

1. # Full -adder

2. ¥ Half -adder

3. % Series circuit

4. % Parallel circuit

Question Number : 149 Question Id : 9277598255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?aéqﬁw(amqﬁﬁ)sﬁm 3R YR AT R < foeT &1 Sitedr & or 3Telt 3= fufa & Iuai oo S &, 39 Fel Sirar

Options :

1. # gof.aere

2. ¢ Y geH

3. % Ui gRoy

4. % MR gRkyy

Question Number : 150 Question Id : 9277598256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufdew ago it fefoea dae a1 Faie SRer ukuy 8id § 3R dit-at 3% A9 Fe1 oI &-




Options :

1. % e IfoRex

2. ¢ aIferd dghiua
3. ® HIR

4. % feprex

Question Number : 150 Question Id : 9277598256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Astable Multivibrators are digital oscillators, or clock generator circuits and sometimes are called:
Options :

1. # Shift registers

2. ¥ Free running multivibrators

3. % Comparator

4. % Decoder

Question Number : 151 Question Id : 9277598257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Laplace transform of L(t cos at) is:
Options :

1. ¥ (s2-a?)(s*+a?)?

2. % bfs-a)*+b?

3. # bfs-a)*-b?

4, ® s-afs-a)*-b?

Question Number : 151 Question Id : 9277598257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
L(t cos at) BT AT FUTARU 3-
Options :

1. ¥ (s2-a?)(s*+a?)?




2. ¥ bfs-a)*+b?
3. # bfs-a)*-b?
4. # s-afs-a)>-b?

Question Number : 152 Question Id : 9277598258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A connected open set is called:

Options :

1. ¥ Domain

2. % Open set

3. % Closed set

4. # Limit point

Question Number : 152 Question Id : 9277598258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ SIEF

2. % Gl (3N0) I
3. % §g (Kiive) Ue
4. % HiHi®

Question Number : 153 Question Id : 9277598259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The relation between half life time (T) is and average life time (T,) is:
Options :

1. ¥ T=0.693Ta

2. % T=0.0003A



3. % T=0.1013A
4. % T=0.5073A

Question Number : 153 Question Id : 9277598259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ T=0.693Ta

2. % T=0.00031

3. % T=0.10131

4. % T=0.5073\

Question Number : 154 Question Id : 9277598260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The principle of is used in the construction of atom bomb.
Options :

1. # Superposition

2. ¥ Fission

3. * Fusion

4. # Alpha decay

Question Number : 154 Question Id : 9277598260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % R

2. ¢ fagiEA

3. % oo



4. % Al &Y

Question Number : 155 Question Id : 9277598261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Neutrons with energies having range between 0.5 to10 Mev are called:
Options :

1. # Slow neutrons

2. # Fast neutrons

3. % Moderate neutrons

4. # None of these

Question Number : 155 Question Id : 9277598261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % T geH

2. % ol gg

3. ¢ HIH Y2

4, % TTHAPIS Ta!

Question Number : 156 Question Id : 9277598262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of output voltage (Vo) to the input signal voltage (Vs) is called as:
Options :

1. * Power gain

2. % Amplification factor

3. ¥ Voltage gain

4. % Bandwidth



Question Number : 156 Question Id : 9277598262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % T[iok sy

2. % Uqd HRP

3. ¢ fayaioR afe

4. % defagy

Question Number : 157 Question Id : 9277598263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The output impedence of an ideal operational amplifier is assusmed to be:
Options :

1. ¥ Zero

2. # Infinity

3. ¥ Minimum

4, % Maximum

Question Number : 157 Question Id : 9277598263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3MTexf Wfsharerss Uatie Bl 3f3eye ufarel &1 AT ST 3§
Options :

1. ¥ Y

2. % 3Hd

3. % YAdH

4. % 3ffpdH



Question Number : 158 Question Id : 9277598264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The maximum rate of change of an op amp's output voltage per unit of time is called:
Options :

1. ¥ CMRR

2. # Bandwidth

3. % Slew Rate

4. % Power gain

Question Number : 158 Question Id : 9277598264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ CMRR

2. % defagy
3. ¥ WA
4. % eI ATH

Question Number : 159 Question Id : 9277598265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The eigenvalues of a Hermitian operator are always:
Options :

1. ¥ Real

2. % Non - Real

3. # Constant

4. % Indefinite

Question Number : 159 Question Id : 9277598265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

e giiffen aiftRer & sifirameifore A ga=m 1 8
Options :

|. ¢ dRdfde

2. % IR - IRATdDH

3. % fodie

4. % JHAIFIBTA

Question Number : 160 Question Id : 9277598266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the lowest value of energy the harmonic oscillator can have.

Options :

1. # Eo=hv

2. % E=12h
3. % Eo= 13 hv
4. ¥ Eo= 12 hv

Question Number : 160 Question Id : 9277598266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # Eo=hv

2. % E~=12h
3. % Eo= 13 hv
4. ¥ Eo= 12 hv
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Question Number : 161 Question Id : 9277598267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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The co-ordinate sysytem in which the bombarded particle is intially at rest is known as:

Options :

1. ¥ Laboratory system

2. #* Center of mass system
3. * open system

4. * closed system



Question Number : 161 Question Id : 9277598267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ UINTITAT YOTTe
2. % dgfd b=l dd
3. % gardd

4. % §qdd

Question Number : 162 Question Id : 9277598268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The packing factor of a simple cube is:
Options :

1. * w4

2. ¥ 6

3. % 13

4. % w8

Question Number : 162 Question Id : 9277598268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTYROT G T UfehT 701 §

Options :

1. % w4

2. ¥ 16

3. % 13

4. % w8



Question Number : 163 Question Id : 9277598269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to , the magnetic susceptibility of a paramagnetic substance is inversely proportional to the absolute temperature.

Options :

1. ¥ Curie's law

2. % Coulomb's law
3. # Biot-savart's law

4, % Gauss law

Question Number : 163 Question Id : 9277598269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ R |

2. % FHam-Fy

3. % §-aC |
4. % 39 gy

Question Number : 164 Question Id : 9277598270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The amount of energy which is spent to separate the solid ionic crystal into its constituent ions is called:
Options :

1. ¥ Lattice energy

2. % Mechanical energy

3. # Chemical energy

4. ® Nuclear energy

Question Number : 164 Question Id : 9277598270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ dfew Sl

2. % i Sl

3. % IS Sl

4. ® QAT SHoll

Question Number : 165 Question Id : 9277598271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An Electromagnetic wave can be generated by charges.

Options :

1. # Static

2. ¥ Accelerated
3. % Positive

4. ¥ Negative

Question Number : 165 Question Id : 9277598271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % RR fagygq
2. ¢ @d

3. % gD
4. % BUTHAD

Question Number : 166 Question Id : 9277598272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A dipole whose dipole moment varies sinusoidally is called:
Options :

1. # Atomic dipole

2. ®% Molecular dipole

3. ¥ Oscillating dipole

4. # Induced dipole

Question Number : 166 Question Id : 9277598272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % qRA7Y] fgga
2. % 3foge fgya

3. ¢ qla %ga’ (oscillating dipole)
4. % QR fggydia

Question Number : 167 Question Id : 9277598273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is used in quantum theory to describe the statistical state of a quantum system.

Options :

1. ¥ Density operator

2. % Hermitian operator
3. % Momentum operator

4. % Position operator

Question Number : 167 Question Id : 9277598273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. ¢ U9d YHRD
2. % giifeu dpRE
3. % G AHPRD
4. ® Yfd IHRS

Question Number : 168 Question Id : 9277598274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did French painter and chemist Louis-Jacques-Mandé Daguerre photographed photo of any person the first time?
Options :

1. % 1837

2.9 1839

3. % 1847

4, % 1827

Question Number : 168 Question Id : 9277598274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. #® 1837

2. ¥ 1839

3. % 1847

4. % 1827

Question Number : 169 Question Id : 9277598275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year of the following National Geographic magazine had an Afghan Girl on its cover?
Options :

1. ¥ 1985



2. % 1983
3. % 1987
4. % 1980

Question Number : 169 Question Id : 9277598275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 1985

2. % 1983

3. % 1987

4. % 1980

Question Number : 170 Question Id : 9277598276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which light produces high contrast images with lots of shadows and definition, along with bright, vivid colors
Options :

1. # Indirect light

2. # Diffused light

3. % Direct light

4. #® Soft light

Question Number : 170 Question Id : 9277598276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Y& UbT

2. % fqaRd usr



3. ¥ U& UBT
4. % BoPI UBIA

Question Number : 171 Question Id : 9277598277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Technically, light is diffused when it passes through a object such as a large sheet, or a window.
Options :

1. % Shadow

2. % Solid

3. % Dark

4. ¥ Transparent

Question Number : 171 Question Id : 9277598277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 91l

2. % 319

3. % Brail

4. ¥ URERN

Question Number : 172 Question Id : 9277598278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of focusing in digital cameras allows you to use several focus points as well as the main one in the centre.
Options :

1. ¥ multi-segment

2. % single-segment

3. % zero-segment



4. # uniform-segment

Question Number : 172 Question Id : 9277598278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&fired Fm & f5T yoR o1 By Wéﬁ{ﬁ@lﬁﬂ@(main one in the centre) %Wuﬁqﬂwﬁgefﬁwmﬂﬂaﬂﬁﬁﬁﬁwm
ERGIES,

Options :

1. ¢ §8-WS (multi-segment)

2. % THA-TS (single-segment)

3. % FY-WS (zero-segment)

4. % TDH¥Y-TS (uniform-segment)

Question Number : 173 Question Id : 9277598279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the way in which unwanted motion blur can be avoided?
Options :

1. # By decreasing shutter speed

2. ¥ By increasing shutter speed

3. % By closing shutter

4. ¥ By opening shutter

Question Number : 173 Question Id : 9277598279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % X WIS HH b

2. ¢ YR WIS FGThR

3. % YT G PRb




4. % QeI TAR

Question Number : 174 Question Id : 9277598280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is use of wide angle lenses in camera?
Options :

1. ® Shrinks the image

2. ¥ Captures a lot of details

3. # Translate the image

4. ® Squeeze the image

Question Number : 174 Question Id : 9277598280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIR T q15S WA o $1 1 B 51l 67
Options :

1. # Bfd Bl BICT (Shrinks) BT

2. ¢ 3feh YEHAATY UIBId BT

3. % Bfd 3l gRafdd

4. % Bfd B BICT (Squeeze) BIAT

Question Number : 175 Question Id : 9277598281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of lenses is used majorly in portrait photography?
Options :

1. # Curvature lenses

2. % Long lenses

3. % Short lenses

4. ¥ Telephoto lenses



Question Number : 175 Question Id : 9277598281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o TR BT I J&d: Uice B! & YA fohar S 82
Options :

1. % gehell o

2. % dareg

3. % BTy

4. ¢ RfTA WY

Question Number : 176 Question Id : 9277598282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A true macro lens can yield a magnification without any attachment.
Options :

1. % 10:1

2.%1:10

3.1 1

4. % 10:100

Question Number : 176 Question Id : 9277598282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 10:1

2.%1:10

3.¢1:1

4. % 10:100



Question Number : 177 Question Id : 9277598283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a technique that allows you to combine multiple photographs with different focus distances to produce a single image with
more of a subject in focus.

Options :

1. ¥ Focus stacking
2. # Stabilization
3. % Depth field

4. % Low field

Question Number : 177 Question Id : 9277598283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ BIHY TfHT
2. % R0

Question Number : 178 Question Id : 9277598284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The setting affects the depth of field.
Options :

1. % Camera

2. ¥ Aperture

3. *® Focus

4. % Dimension



Question Number : 178 Question Id : 9277598284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT, & B TERIE B YUIAT el B
Options :
1. % BRI
2. ¥ gIR® (Aperture)
3. % iy
4. # 3MH (Dimension)

Question Number : 179 Question Id : 9277598285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
speed refers to the amount of time the shutter remains open to capture the image
Options :
1. ® ISO
2. # Aperture
3. ¢ Shutter

4. % Camera

Question Number : 179 Question Id : 9277598285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 3ME.TY.3M. (1S0)
2. % gIRd (Aperture)
3. ¥ YR
4. % HIRT

Question Number : 180 Question Id : 9277598286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
is the process of removing unrealistic color casts, so that objects which appear white in person are rendered white in your photo.

Options :

1. ¥ White balance
2. # Black balance

3. ¥ White imbalance
4. #* Black Imbalance

Question Number : 180 Question Id : 9277598286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ RIgC oeid
2. % SIH g0
3. % QI3 Y
4. % S FrI
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Question Number : 181 Question Id : 9277598287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A flash diffuser is used to minimize
Options :

1. # Brightness

2. % Color

3. % Light

4. ¥ Shadow

Question Number : 181 Question Id : 9277598287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # Eﬁ'ﬁ%{(Brighmess)

2. %

3. % YhIRT

4. ¥ B (Shadow)



Question Number : 182 Question Id : 9277598288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Candle light is a light source with which range of color temperature?
Options :

1. ¥ 1000-2000 K

2. % 2500 - 3500 K

3. % 500 - 1000 K

4. % 3000 - 3500 K

Question Number : 182 Question Id : 9277598288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1000-2000 K

2. % 2500 - 3500 K

3. % 500 - 1000 K

4. % 3000 - 3500 K

Question Number : 183 Question Id : 9277598289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Digital use tiny photodiodes that allow an electrical current to flow when light is placed upon them.
Options :

1. # flash

2. % sensors

3. % optics

4. % keys

Question Number : 183 Question Id : 9277598289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % RIS

2. ¢ YW

3. % 3P (optics)
4. ® ﬁ\_ﬂ(keys)

Question Number : 184 Question Id : 9277598290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Lightroom is a cataloging software. What does that mean?
Options :

1. ¥ Lightroom doesn’t actually touch your photos.

2. # Lightroom edits your photos.

3. # Lightroom touches your photos.

4. ® Lightroom makes your photos more visible.

Question Number : 184 Question Id : 9277598290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 185 Question Id : 9277598291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which file format is the best known for small size of digital image?
Options :

1. # TIP

2. # TIFF

3. ¥ JPEG

4. % RAW

Question Number : 185 Question Id : 9277598291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # TIP

2. % TIFF

3. ¥ JPEG

4. % RAW

Question Number : 186 Question Id : 9277598292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the ability to distinguish fine spatial detail.
Options :
1. ¥ Resolution
2. * Sketching
3. # Filling

4. % Compression

Question Number : 186 Question Id : 9277598292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ RSleg=H
2. % Tl

3. % fpfeiT

4. % DAY

Question Number : 187 Question Id : 9277598293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is used to reduce image file size for storage, processing, and transmission.
Options :
1. # Restoration
2. ¥ Compression
3. #* Filling

4. % Resolution

Question Number : 187 Question Id : 9277598293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % RERTA

2. ¥ HHYH

3. % fopfeim

4. % ReITegRH

Question Number : 188 Question Id : 9277598294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which effect of Depth of field is most suitable for portrait photography?
Options :



1. # Smallest aperture (£24)
2. # Small aperture (f16)

3. ¥ Large aperture (f4)

4. ¥ Normal aperture (f12)

Question Number : 188 Question Id : 9277598294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gaY BTGRP (£24)

2. % BICT GRS (f16)

3. ¥ 8] gRP (f4)

4. ¥ YHI gR® (f12)

Question Number : 189 Question Id : 9277598295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Higher-end DSLRs have a feature called " ” for wildlife photography.
Options :

1. ¥ Lens Micro-adjustment
2. % Lens Macro-adjustment
3. % Shutter adjustment

4. % Light adjustment

Question Number : 189 Question Id : 9277598295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 190 Question Id : 9277598296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This is the illuminance produced by a luminous flux of one lumen, uniformly distributed over a surface area of one square metre.
Options :

1. ¥ Lux

2. % Luminous

3. * Illuminance

4. % Color Rendering

Question Number : 190 Question Id : 9277598296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % oI (Lux)

2. % EﬂW(Luminous)

3. % Jaifay g (Illuminance)

4. % HAR ISR (Color Rendering)

Question Number : 191 Question Id : 9277598297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following tool is the light diffuser?
Options :

1. #® Lightbox

2. # Hardbox



3. % Softbox
4. % Gearbox

Question Number : 191 Question Id : 9277598297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % qgcdie

2. % grSaiay

3. ¢ QoS

4. % fiRREIR

Question Number : 192 Question Id : 9277598298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A snoot should have a minimum of mm to have a good effect in front of your light source.
Options :

1. % 200

2. % 300

3. %100

4. % 400

Question Number : 192 Question Id : 9277598298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Options :

1. ¥ 200

2. % 300

3. %100




4. % 400

Question Number : 193 Question Id : 9277598299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does a snoot do on a flash?

Options :

1. ® blocks the beam of light

2. % creates a soft, concentrated beam of light.
3. # creates a hard, reflected beam of light.

4. ¥ creates a hard, concentrated beam of light.

Question Number : 193 Question Id : 9277598299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25

TRl TR e &1 1 ST gl /2

Options :

1. % UhTR & [hrurdel ol AT |

2. % YHIR DI UP gebl, b isd [hR01 §H|
3. % YD B TH HAR, WRIAfdd b0l §HT|
4. ¢ UHTR I T H3R, Hbigd [0 §M |

Question Number : 194 Question Id : 9277598300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
need to give the viewer the sense that they’re meeting someone, in a professional context, for the first time.
Options :
1. ¥ Headshots
2. % Softbox
3. % Snoot
4. % Light



Question Number : 194 Question Id : 9277598300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ gexlicy
2. ® sl
3. ¥ HC

4, % YbI

Question Number : 195 Question Id : 9277598301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To add a silky look to fast flowing water photos on a tripod for enhanced depth of field, what should be the shutter speed?
Options :

1. % 1/2 to 1/30 second

2. % 1-30+ seconds

3.9 2-1/2second

4. % 0 second

Question Number : 195 Question Id : 9277598301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 196 Question Id : 9277598302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shutter speed will increase the aperture and thus result in loss of depth of field and front to back sharpness
Options :

1. # slower

2. ¥ faster

3. ¥ medium

4. % zero

Question Number : 196 Question Id : 9277598302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR Wi W GRS TS 81 ST 3R I URUIMH WY & P g5 3R M T Ny Wyar o1 g1 grft|

Options :
1. % e
2. ¢ Al
3. % HYYH
4. % Y

Question Number : 197 Question Id : 9277598303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a lighting technique in which the light from a strong light source is literally bounced off of a bounce board, reflector, or other light
colored surface.

Options :

1. ¥ Bounce light
2. % Heavy light

3. % Diffused light
4. # Refracted light

Question Number : 197 Question Id : 9277598303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 9139 U
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Question Number : 198 Question Id : 9277598304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an underused tool of composition, and yet it is probably the most important rule of composition for shooting group
photos.

Options :

1. % Square

2. ® Rectangle
3. ® Circle

4. ¥ Triangle

Question Number : 198 Question Id : 9277598304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Options :
1. % i
2. % 3Ad
3. % 49d
4. By




Question Number : 199 Question Id : 9277598305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One of the common mistakes is placing the too close to the axis of the people, so one person's head throws a shadow on the next
person.

Options :

1. # camera
2. ¥ lights
3. # hand
4. % tripod

Question Number : 199 Question Id : 9277598305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % HH

2. % YDl

3. % gy

4. % Burg

Question Number : 200 Question Id : 9277598306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Composition in photography refers to a set of principles a photographer can use to
Options :

1. % Make the photos more squeezed

2. % Make the photos more closer

3. ¥ Make the photos more pleasing and interesting

4. % Make the photos more stretched
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